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1. In India seats for women arc reserved in :

(1) Lok Sabha (2) State Legislative Counci'ls
(3) Cabinets (4) Panchayati Raj Bodies
WRE  wfeenell B R @F o ¥ oo '

(1) e gur & | (2) Woy e afwal
(3) ¥feme # | C(4) dETEE S e #

2. - Consider the following statements on the meaning of communal politics.

Communal politics is based on the belief that :
(A) One religion;islsupcrior to that ofothers )

(B) People belonging to ‘différent religions can'live together happily as equal citizens
(C)‘ Followers of a partiéular re'lig'ion constitﬁtc one corhmunity |

(D) State power ‘cannot be used to establlsh the domination of one rellglous _groups
over a other '

Wthh statement is/are correct ? s

(1) A,B,C,D | - (2)AB&D

(3) A&C . . (4 B&D
Hmmrm:ﬂﬁ%mé%aﬁﬁﬁqﬁrﬁ@ﬁm“%aﬂﬁl
Wﬁ%ﬂﬁ%sﬁﬁswwaﬂmﬁﬁ%ﬁs

(A)TF a9 gad § = B .
(B)ﬁﬁwaﬁ%aﬁwwwﬁaﬁ%wﬁ@ﬁﬁwwwm%l
(C) @ fa9w o & STgaril ©F Y& & Ted HXa & |

(D)deﬁ%ﬂazaﬂaga%wugﬁrwﬁﬁaﬂ%%mmﬁaﬁﬁm
SUIPT & fRar o @ B |

H-91 HIT TET 2R ?

(1) A,B,C,D: , -~ (2) A,BaarD
(3) AdarC @) BaED
BLBHJ-EE-June, 2023/(SET-X)/(A) | : : | ~  p.T.oO.
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3 Which among the following statement about Indian Constitution is wrong H
(1) Prohibits diScrimipation on ground of religion |
(2) Gives official status to one religion
(3) Provides to all individuals freedom to profess any _religion
(4) Ensure equality of citizens within rel_igious corﬁmuhities
Tl W & AR § P A & deear woe o B 7
.(I)ET’#%GHHITWWQT‘?@W%I |
(2) @ o @1 orfeenRe T AT B S | |
(B)Hﬁﬁaﬁﬁﬁraﬁmaﬂaﬁaﬁmﬁaﬁwwm%l
(4) TRt agar&r%%ﬂa“{wﬁﬁ B qum-gﬁrf?zaaaﬂm%l |

4. Which of these is not a good‘arguhment in favour of democracy 7
(1) People feel free and equal in democracy. |
(2) Democracies resolve conﬂict in a better way than others.
(3) Democratic 'governmént is' more accountable to the 'people_r
-(4) Democra01es are more prosperous than others.
W%qﬂﬁsﬂﬁ@raﬁﬂma’eﬁmaﬁ %? |
(1) T et # T ST wE e A |
(2)@zﬁaagaﬁaﬁgamﬁm#%waﬁ%ﬁwﬁ%l
(3)@%@%%%%%@%@@3%%1
(4)Wmﬁwﬁmm%| '
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5. Which of these provision that a democratic constitution docs not have ?

(1) Powers of the head of the state | '
(2) Name of the head of the state
(3) Powers of the legislature

~ (4) Name of the country
ST § AT TENH OF it w78 ¥ 7
(1) ToT & wg@
(2) T B IGE H AH

- (3) P @ afREn
(4) 3 FH AH

6. Which of these is not a good reason to say that Indian Elections are democratic ?
(1) India has the largest number of voters in the world

(2) India's election commission is very powerful
(3) In India, everyone above the age of 18 has a right to vote
(4) In India, the loosing parties accept the electoral verdict.

Eﬁéiﬁﬁ-ww‘aﬁﬁwwwmﬁaﬁ%ﬁsﬂﬂﬁawaﬁmﬁﬁ
(1) e & gFRm & waq S HagwT €
| (2) R @ g AN FgA AR | |
(3)Wﬁlsﬁ%maﬂg%maﬁﬁzﬁwwa®m%l
(4)Wﬁaﬁaﬁﬁmﬁiﬁgﬂﬁﬁaﬁﬁﬂaﬁvﬁwm%n | |

7. If you are elected as a President of India which of the following decision can you take
on your own : : '
(1) Select the person you like as Prime Minister

(2) Dismiss a Prime Minister who has majority in Lok Sabha

(3) Ask for reconsideration of a bill passed by both the Houses.

(4) Nominate the leaders of your choice to the council of Ministers.

BLBHJ-EE-June, 2023/(SET-X)/(A) P.T.O.
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qﬁmmﬁ%m%mﬁgﬁaﬁg,mmm@ﬁﬁaﬁmm
Folg e @ gy &7 e | ‘
(1) 39 =R & == B¢ R o9 g & wq § g6 5 ¢

(2) B F ggAT @Y AW guEES @) qeie T

(3) AT FeAt ERT AR R Ov g & frg B
(4)mw%wﬁﬁ@w&wﬁaﬁa

Who among the followmg Is a part of the political executive ?
(1) District Collector '

(2) Secretary of the Mlmstry of Home. Affalrs
- (3) Home Minister
(4) Director General of Pol1ce

PR 5] $He Wﬁﬁﬁﬁs amitxﬁzm ol %Rﬂ g7

(1) R sherre |

(2) & HAET F are

(3) TeH= |

(4) giere Herfaers

Which of the following statement about the Judiciary is false. ?

(1) Every law passed by the Parliainent needs approval of the Supreme Court

(2) Judiciary can strike down a law if it goes against the spirit of the Constitution
(3) Judiciary is independent of the Executive |
(4) Any citizen can 'approac.h the Courts if rights are violated

i & a) # Pl § & A s ot 7

(1) 98 & qRA 0% FLT B A AT F AT B s

(2)@%%@@@@%{%%@%@%&%%%
- e smar B0 .

- (3) =raIsT, HEUNIRT § WO
(4)meaﬁwmﬁwﬁmwmm%y
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10. Which of the following institutions can’ mdke changes to an ex:stmg law of the

country ? ,

(1) The Supreme Court ~ (2) The President

(3) The Prime Minister . (4) The Parliament ,

ﬁﬁ%@aﬁ%aﬁq-%ﬁﬁww%qﬁ@wﬁwwm%?

(1) gim e | o (2) iy

@) gg=ER (4) HEx

11. Which of the following rlghts is avallable under the Indian Constitution 2
‘ (1) Right to work

(2) Right to adequate livelihood
(3) Right to protect one's culture
“4) nght of brotherhood

ﬁ@ﬁf@aﬁ%aﬁﬂwmﬁmaﬁm%aﬁﬁamﬁw%?
(1) =™ B BN HATBR

(2)%&@%%% fi
(3)6W?ﬁaqﬁaﬁmmﬁaﬂaqw

(4) AR F AHR

12. Which of the following freedom is not av_ai‘lable to an Indian cit}izen‘ ?
(1) Freedom to criticizé the go}vern.mentA- . |
(2) Freedom to partibipate in armed reyolution’
(3) Freedom to sfart a nﬁbvement to change é governmg:nt

(4) Freedom to oppose the central values of the constitution

ﬁwﬁ@ﬁﬁ@aﬁlﬁmwwwmﬁwﬁwﬂﬁ g7
(1)Wﬂ%aﬂﬁwmaﬁw
(2),H3ﬁ%ﬁﬁﬂmaﬁaﬁw |
(3)WW%‘WW@FW&%W
(4)81%:%%%@@@1@%3%@3%
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13.. The important feature of a federal government is :
(1) National government gives some powers to the provincial governments.
(2) Power is distributed among the lcgmldlurc executive and Jud1c1ary
(3) Elected officials exercise supreme power in the government.
(4) Government power is divided between different levels of the government.
GHT TXER P AeEyel QA & -
(I)WWWWEQ@SWHT%I A
(2) v Rrenfesr, s o =rguifmee # & Rarka @ SR 2
(3) Faffa sifteprd @R § wdtes iR @1 9@ & 8 | ,
(4) TR ARy TRHR B AR @l B G R B

14. Consider the following statements :

(A) In a federation the powers of the federal and prov1nc1a1 governments are clearly
demarcated.

‘(B) India is a federation because of the powers of the Union and states governments are
specified in the constitution and they have exclusive Jurlsdlctlon on their respective
‘ subjects. ;

(C) Sri Lanka is the federation because the country is divided into provinces.

(D) India is no longer a federation because some powers of the states hdve been
devolved to the local government bodies.

Which statement given above are correct ?

(1) A,B&C - 4 (2)AC&D

3) A&B ‘ “(4) B&C

- e wEl o) faEr it '
‘ (A)@mﬁmaﬁmmaﬁsﬂ%@rwwwﬁ@wﬁw

ST 2 |

(B)WW@QW%W@W%@TWW%H@W%
fféee femam w%aﬁtmwaﬁw%%wwﬁmaﬁwm
z .

(C)%ﬁwm%aﬁﬁf?ﬁ%ﬂmfrﬁmﬁﬁ%l

(D)W@W@wﬁ%mwﬁ@sﬁmwmﬁm
P BEACRT HT & TS &1

SR RU T HH-T Ha gel & ?

(1) A,BTIC ' (2) A, CaMD

(3)- AT B (4) Bgan C
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15.

7

In dealing with social divisions Wthh one of the following statements is ‘not correct
about democracy ? - : ‘

(1) Due to political competition in a democracy, social d1v1snon get rcﬂectcd in
politics. :

(2) In a democracy it is possible for communities to voice their grlcvances in a
peaceful manner.

(3) Democracy is the best way to accommodate social diversity.

4) Democracy always leads to d1smtegrat10n of society on the basis of social
divisions. :

‘_mmamaﬁaﬁuaaﬁahw%aﬁﬁﬁwﬁmaﬁaamwam

16.

BLBHJ-EE-June, 2023/(SET-X)/(A)

aét 78 B ?

(1)@@?;ﬁﬂﬁﬁamﬁ%mmm%ﬂmmﬁgﬁw
|

(Z)Wgwﬁ%m%aﬂa%ﬁs%amﬁfwﬁfﬁsmm@
e |

(3)@%%@%%%@@%25@%@%3@%%

(4)aﬁzsaaaﬁsnmﬁzﬁﬁﬂmﬁ%aﬂmwweﬁrﬁmaﬁaﬂiﬁ
Gﬂ?ﬂ%l |

What is the vguiding 'philoé,ophy of the Bhartiya Janta Party.?’
(1) Bahujan Samaj | B T A
2) Rei/olﬁtiohary Democracy

(3) Integral Humanism

(4) Modernity
qncﬁumqrﬁaﬁrqn’ias’ia;ashw%?

(1) TEo T

2) epifereTl bt

(3) THH HHEGAE

4) CﬂTgﬁﬁﬁﬂT

P.T. O.
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17, Consider the following statements on parties :

(A) Palitical Parties do not enjoy much trust among the people.

(B) Parties are often rocked by scandals involving top party leaders.

(C) Parties are not necessary to run the governments.

Which statement given above are correct ?

() AAB&C (2) A&B

() B&C 4) A&C

il & 9R ¥ Frefiag s w® RER s _
(A) TS o A & e oiftes Risare @1 areg wE @ 2
(B) Wl & o Jarolt § o et & Wi o e ¥
(C)mwﬁ%maﬁwammswﬁ%l

SuX fRu @ -9 woT &7

(1) A.BaarC « : (2) AdaTB

3) BT C (4) AT C

18. In the context of assessing democmcy which among the followmg is odd one out.
Democracies need to ensure :

(1) Free and fair elections (2) Digni@ of the individual
(3) Majority rule . ~ (4) Equal treatment before law

MFd B THET B wad ¥ Praied ¥ A S Avg R
Gﬁaﬁaﬁgﬁfﬁmmaﬁmsm%

(1) @& AR eI g9

- (2) =R # AR o ~

(3) FEA & ATEA :

(4) HEA B THE GHH FATER

19. Studies on political and social inequalities in democracy show that :
(1) Democracy and development go together
(2) Inequalities exist in democracies '
(3) Inequalities do not exist under dictatorship

(4) Dictatorship is better than democracy

BLBHJ-EE-June, 2023/(SET-X)/(A)
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Aepas § o o AT sraaEerelt X o1HIaH § udT dwdn © %
(1) depds A R qg-ary ge ¥ '

(2) e F erEHTAN AeqE &

(3) AETITE & Bd IEAFAN A e ¥

(4) QSIS Weha § dBX &

20. In the context of democracies, which of the fbllowing idea is correct ?
Democracies have successfully eliminated :
(1) Conflicts amohg people
(2) Economic inequalitics among people |
~ (3) Difference of opinion about how marginalised sections are to be treated

(4) The idea of political inequality

ﬁtﬁ%ﬁéﬁﬁ%%ﬁw%mﬁﬁzﬁ?wﬁaﬂaﬁ%
W%Hﬁ?ﬂ"ﬁzﬁmiﬂm%

(1) AFT & <= quy -
(Z)Eﬁ"ﬁ%ﬁﬁﬂmﬁzﬁm
(3)@@6@%%%%%@ svaﬁﬁqa*ﬁ—c:
(4)rrv1=ﬂ1%|—cﬁamﬂﬂmemﬁ%m

21. If in a certain language, MADRAS is coded as NBESBT, how is
BOMBAY coded in that code ? . Yo e | S
(1) CPNCBX - - (2) CPNCBZ
~ (3) CPOCBZ (4) CQOCBZ

afg fepe ffeaa «mn H, MADRASa%NBESBTa%wﬁWmW%
& o 9o ¥ BOMBAY &1 &0 heshs fohar s 7 .

(1) CPNCBX (2) CPNCBZ
. (3) CPOCBZ : ik gl (4) CQOCBZ

22. Four usual dice are . thrown on the ground. The total of numbers on the top faces of
these four dice is 13 as the top faces showed 4, 3, 1 and 5
respectively. What is the total of the faces touching the ground ?

()12 - | @B
(3) 15 ‘ | ~ (4) Cannot be determined -

BLBHJ-EE-June, 2023/(SET-X)/(A) P.T.O.
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23.

24.

25.

'BLBHJ-EE-June, 2023/(SET-X)/(A)

(3) TNCA - (4) TNEV = -

+ A
mm@%wﬁﬁ%usﬁw@mﬁﬁﬁj‘?%
FH 13 T A M Gerp mE 4, 3, 1 e 5 mw E1 ST AR
WTehl. 3 e EeEr fhae & 7 : '

M 12 - . (2) 13.

@1 | (4) Praffxe =& fear o &R
Select the related number from the given alternatives. |
7:32::35:?

(1) 146 | (2) 156

(3) 160 | . @) 172

fepedi § 9§ G g & agq Bl

7:32::35:7

(1) 146 ’ ' @156

(3) 160 @) 172

Select. the related wofd - from the ~ given alternatives.

"PIGEON : PEACE : : ?

(1) CROWN : HEAD © (2) WHITE FLAG : SURRENDER
(3) LAURELS : VICTORY (4) WAR : LIBERTY
frepeat ¥ wﬁua S| gﬁm

PIGEON PEACE :

(1) CROWN : HEAD - (2) WHITE FLAG : SURRENDER
(3) LAURELS : VICTORY (4) WAR : LIBERTY

Select' the optioh that is related to the third letter-cluster in the same way
as the second letter-cluster is related to the first letter-cluster.

PLMO : PNMQ:: UDMS: ?

(1) RNEZ T (2) TQFY

Scanned with CamScanner
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Sq Reeq @ TaT AR, S Gy Fee-agE @ 36 R etk @ 99
m,w—w%ﬁm~wﬁﬁﬁfﬁﬁ%l s
PLMO : PNMQ: : UDMS: ? -
(1) RNEZ (2) TQFY
(3) TNCA - (4) TNEV

26. Which one of the given answers would 'be a meaningful sequence of the

~ following words ? ‘ ‘ ‘
 (A)Mega

(B)Kilo

(C) Tera

(D) Giga , . .

(1) B,D,C,A ‘ 2) A,B,C,D

(3) A,C,B,D | ~ (4) B,A,D,C

e ool & @ Bre-ar HOT oTigel oTgehd & 7

(A) BT ‘

(B) fepr
(€)=

(D) Irm

(1) B,D,C, A
_(3) A,C,B,D

(2)-A,B,C,D
(4) Ba As Ds C

‘to the north, then turns lcft and walks

27. A man from point A walks 20 m |
At last he turns right and walks 20 m

40 m again turns left and walks 20 m.".
to reach at point B. Find distance and direction from point A to B. ?

(2) 40 m./East
(.4) 60 m./East

(1) 20 m./West
(3) 60 m./West
%A%@mzo.rﬁﬁwﬂaﬂtm%maﬁw%aﬁrmﬁ
-m%maaﬁm%mzotﬂﬂw%lmﬁﬁmﬁw%aﬂ?
20tﬁﬂaa%i%:rggqtq§am%lﬁsigA@Baasa€rgﬁaﬁTﬁsnaﬁ

AT |
(1) 20 HeyqiaH (2) 40 e/l
(3) 60 HrewafyaH (4) 60 WeX/gd ,
| L i3 PAT. O.
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- 28,

29.

(3) C,A,D,E,B

S €T B dme e & a1e o9 4 e g8 e
i \

A

Which one of the given answers would be a meaningful - sequence: of the
following words ?

(A) Plant

(B) Fruit

(C) Seed

(D) Leaf

(E) Flower \ _ :

(1) A,C,D,E,B . 2) C,B,D,E, A
(3) C.A,D,E,B o ~ (4 ED,C,B,A

W@as@mmmwﬁﬁézﬁ?maﬁgﬁaﬁmm? '
(A) Qe

(B) et

(C) sirst

(D) T

(E) & | ‘ S

(1) A,C,D,E, B - ~ (@ GB/DEA

.~ (4 ED,C,BA

Manjeet and Pawan start together from a certain point in the opposite
direction -on motorcycles, The speed of Manjeet is 60 km per hour and
of Pawan is 44 km' per hour. What w111 ‘be the distance between them
after 15 minutes ? ‘

(1) 20 km "l (2) 24 km

(3) 26km (&) 30km

Tl s &

Wa'ﬁrwmﬁmﬁ@ﬁﬁaaﬁg%w-
%@T R 44 Bl
? N

I Y& HIG &, Hoha @ Al 60 Rer wfey der

() 20f (@ 4R
(3) 26 foreht @) 30 R

BLBHJ-EE-June, 2023/(SET-X)/(A)
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30. Complete the series :

1024 -ereemv, 1600, 2000, 2500, 3125
(1) 1350 (2) 1440
“(3) 1125 (4) 1280
sy @ ot A
1024, ~------, 1600, 2000, 2500, 3125 J
(1) 1350 - ) , | K ' (2),1440"
3) 1125 ' | (@) 1280 .
31. EEECEEEEE
3 4 9
2 5 2 '
6 7 ?
36 | 140 | 18
32.

(3) 62 | | (4) 64

BLBHJ-EE-June, 2023/(SET-X)/(A)
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33.

34.

35.

36.

A

If a cube.is made by mixing 64 small cubes theri two [aces of how mdn)’

small cubes will appear ?

(D 12 - (2) 24
[OF W

Hﬁ64®%a=ﬁa?rﬁaqus wmm,ehﬁmﬁéﬁﬁ%am
fears 3 ? . |
(1) 12 | ' (2) 24

3) 32 : ' 4) 42

Looking in the mirror it seems that the clock is showmg 6 : 30. What is the

~ actual time of the clock ?

(1) 06:30 - faf @) 05;30

(3) 06:00 , ' (4) 05 : 00

;ﬁﬂﬁ%@%ﬂﬁ?ﬂ%%a@ﬁﬁ6 30mﬁ%naﬁﬁmﬁzﬁww
?

(1) 06 : 30 (2) -05 : 30

(3) 06'00 | _ (4) 05:00

If in the year 2016 the Republic Day was celebrated on F rlday, lhcn in the
year 2020, on Wthh day the Republic Day was celebrated ? :

(1) Monday = g o (2) Wednesday

‘(3) Friday , 4) Sunday
zri%ercfzowﬁzaaamﬁavwﬁww F?rasfzozoﬁwa‘sm
Raw fope fsr wwmm m ? , : .

(1) grar ¢ (2) gER

(3) ghaX ' = - (4) deEr

Alok is 300 days older than Varun' and Sandeep is 50 weeks older than
Alok.” If Sandeep was -born on Tuesday, then on which day . was Varun

born ?
(1) Su"nday . (2) Monday

(3) Tuesday - (4) Wednesday

BLBHJ-EE-June, 2023/(SET-X)/(A)
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ST Tee & 300 R ST ¥ ol €T Iwd S50 gwwre awr ¥1 AR HAhw
;Wwﬁgwm,ﬁmwmmﬁw?ﬂm? |

(1) IR : | (2) EFET
(3) HITER o (4) guE

37. "All the members of the Tennis club are members of the Badminton club
t0o." No woman plays Badminton". L :

(1) Some women play Tennis .
(2) No member of the Tennis club plays Badminton
(3) Some women are members of the Tennis club

(4) No women is a member of the Tennis club

%ﬁﬂﬁﬁ%ﬂ%ﬁw%&lﬁm%wﬁéﬁ%l"ﬁ%qﬁm
Jeffes St Qe 3" _

(1) HB A, SPrg Qe ¥
(Z)ﬁvmwﬁéaﬂ%ﬁﬁaﬁ@w%

(3) HB HieAT, g T H TG ©
(4)@%3%%%%&%&%@:@%

38.

Count the number of triangles :

(1) 8 | @9
(3) 10 | - @) 11
BLBHJ-EE-June, 2023/(SET-X)/(A) P.T.O. k:
i s
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ﬁgﬁiaﬁmmaﬁﬁm

1) 8 , - @9
Gw @l
39, | '
Count the number of Straight Lines :
M9 s @ 11
3) 13 ) @16

e el @ dem W @R
M9 | - @n

’(3')13 T 4) 16

" BLBHJ-EE-June, 2023/(SET-X)/(A)
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40. Question Figure :

—=Z

/

M
‘A_ E -
N

Answer Figures :
1) @) 3) 4)
Which one is mirror image ?
(1) 4 | 2) 1
(3) 2 4) 3
99T ST :
n
' N
I ST
(1) | 2) (3) 4)
gdor gfafers s9-ar 8 ? \
(1) 4 )1
G) 2 OF

Questions 41 to 50 : In the following questions mark the part with the error.

41. (1) These kind of apparel

(2) seems to be expensive

(3) but.is relatively

(4) affordable to maintain |

BLBHJ-EE-June, 2023/(SET-X)/(A)
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a2,

- 43.

44,

45.

46.

47.

48.

BLBHJ-EE-June, 2023/(SET-X)/(A)

@) Neither Ajay
(2) nor his brother

~ (3) can type faster

(4) than me.

(1) Being a sunny day
(2) we went out

(3) for picnic

(4) in the park.

(1) The English

(2) defeated French

(3) in the
(4) battle of Waterloo

(1) An old man in the crowd.
(2) warned Julius Caésvar

(3) about the danger of death
(4) on certain day. ‘

(1) Itis not my business

(2) to give an advice to those -
(3) who are not sensible enough
(4) to deal with their own problems.

(1) The General and his Wife

(2) were invited:

- (3) for the children's day celebration

(4) at our school

(1) No sooner did the
(2) bell rung -

(3) the boys came
(4) out of the class

Scanned with CamScanner



49. (1) How long
(2) is she
(3) working in
(4) the office.

50. (1) Ajay told me
(2) that he wrote a letter
(3) to his boss

(4) for a certain reason

19

Questions 51 to 55 : In the following questions four words/optlons are given, out of Wthh

these choose the incorrectly spelt word. :

51. (1) Hallucination
(2) Bombardment
(3) Randevéus
~ (4) Emeritus

52. (1) Gratification
(2) Defection .
(3) Vaccuum
(4) Accessory

53. (1) Aparthied

' (2) Diaspora
(3) Subaltern | ,
 (4) Tranéparent» |

'54. (1) Trepidation
(2) Tres‘spassing
(3) Absurd
(4 Philanthropic

BLBHJ-EE-June, 2023/(SET-X)/(A)
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55.

(1 Ominous
(2) Acrimonious
(3) Curative

(4) Bizaire

Questions 56 to 60 : Choose the one word substitute for each description.

56.

57.

58.

59.

one who devotes himself to pleaéufe. |
(1) canonist

(2) lustful

(3) hedonist

(4) pleasurable -

a short stay at a place.
(1) sojourn

(2) transit

.(3) holiday

(4) sortie.

A place where weapons and ammunition are stored.

(1) weaponary
(2) arsenal
(3) bunker

(4) vorticism

known only by a few. _'
(1) elliptic

(2) eclectic

(3) ecstatic

(4) esoteric_

BLBHJ-EE-June, 2023/(SET-X)/(A)
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60.

one who copies from other writers,

(1) plagiarist
(2) copyist
(3) limerick

| (4) ascot

61.

62.

63.

. 64.

65.

- 66.

67.

é’rrwzmvmﬁw%
(l)i%RmI
3) SR

SrqfarEr’ %ﬁrﬁmzmaa:rﬂ?rﬁﬂq

(1) =g
(3) faemEd W

‘e F wgE SOE ¥

RO

) 5=

ﬁfaﬁ‘%ﬁr Erqgaﬁm%
(1) == =
(3) R

g& 9= s

(1) STHAB

3) aqf%ﬁm

yE A= BifeT ¢
(1) 7T

(3) eTgzE

‘eI’ I qEEETE ¥

) @

() =T
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@) B
(4) 39

(2)3:@2‘:?1 arq’r

(4) gees 9a

@9

(4) s

@™
NOE

(2) SRrds

(4) 3136

| 2) a@ﬁr
- (4) TR

(2) geE

() BTERY
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88. BT T @& Gt T D P

" 80,

70.

"

72.

73.

74.

75.

~ 76.

(1) &R | (2) 19T
@) g | (4) T
‘o F wEl AW s @ s Ak
(1) |91 (2) sfey
(3) | @) @
Eﬁﬁﬁﬁﬁﬁﬁm SEIQ’”T%
(1) gEA-99p7 - (2) Tg-97H
(3) HRH-STTEST ) - 3 @) afy-fare
._sﬂﬁﬁaﬁwew‘rawqﬁ%?" T
() &= () I3
_(3)aﬂm=r o “) aﬁrs@ﬁﬁ
.msm%aﬁaﬁwwaﬁﬁm
ng- T )
@) =t | g (MWW,
‘T JeAT Wwaﬁwﬁw _
(I)H‘FE-%EF{HT_ o (2)1%6{@1?1?513:{1
(3) Temeh &AT : C (@) e Raen
ﬁm&wﬁaﬁ?—wm%? 51 i
(1) wfaE (2) sigdifE
- (3) agEw ‘- L@ EE
aq?mii’izﬁ?r—mmm%? PR |
RO R-o-3 , (2) FHIRT
@ Egey . - () e
a—cwamasrﬂfﬁﬁ?@?m: | |
(1) =5 + 9= | (2) S + @

3) 3% + ¥=™ : (4) ¥7g + ar|
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77. ‘SUUTER F el e’ 39 ammisn 3 Rie @@ S B T AR
(1) Mgeehs (2) daram
| (3) AR Hafxy - (4) R
78. mwﬁﬂﬂmmﬁﬁé’msmmwm
(1) SISt , . (2) TR
- (3) e | (@) R
79. fpd sma%@aﬁraaﬁ%%rq‘ﬁ’quzﬂnmém?
(1) Fe | A @) ==
Ok S L @
80. ‘W—EFI?F» a ﬁrg—vﬁqﬁao—cn e Ha‘?aqaam Pl T BT -
1) s - - (2) Tz
(3) TH°H | S (4) farEfERT
81. On which continent did an upright-walking ancestofs of human béing originate ?
(1) North America (2) Australia . '
- 3) Africa ' (4) Asia
ﬁ%aﬁmﬁm%gﬁﬁﬁwﬁfm%@qﬁgﬁaﬁ?
(1) Sw@ el - (2) e
~(3) TSHIHT R (4) wfamr
'82. What was the néme of the Super Continent_ of 200 million years ago ?
(1) Pangloss ' ‘ - (2) Panama
(3) Pangaea " (4) Pantarctica
2oomﬁ1uqaﬁ1é%qg&ﬁvamwamm? |
(1) T : - (2) 9T
(3) ¥ | (4) YTl ,
83. In which Indian Religioh‘is' '.'K.arhaprashad' distributed as part of worship sgrvice ?
~ (1) Sikhism ' (2) Buddhism
(3) Jainism | R C) Hinduis_m » _
BLBHJ-EE-June, 2023/(SET-X)/(A) L L e, s dcdeees
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A

Pt i et & qo @ & 9T & w9 7 ‘aeremers’ far f ST € 7
) Reg et @ 3=k |
(3) i i | o @ %i o
- 84. The Moplah Rebellion (1921) took place in :

(1) Telangana © () Viddrbha

"(3) Malabar | - (4) Rohilkhand

’mﬁzﬁa(wzl)ﬁgenm?
(1) <t (@) fat
(3) ARMER (@) ARadEs

85. The Thar Desért contitnues,into P'akistan and called as ......... .

(1) Pak Desert i |
2) Sahara Desert
(3) Gobi Desert |
4) Cholistan Desert :
IR T, afhee o g @ ﬁﬂ?f ........... |
(1) 916 I wea &
(2) HeRT WA Foa @

- (3) e e e B
(4) =<t P wed %

86. Pollutants that are mtroduced into the environment by human act1v1ty are called as :
(1) Qualitative Pollutants il ' :
(2) Quantitative Pollutants
(3) Anthropogenic Potlutants

(4) All of these
mﬁamﬁmﬁmqmﬁméﬁaﬁqgaﬁﬁmw%

-(B)HWWW ' (@) ST /=
87. Brass is an alloy of : : »
(1) Nickel and Copper - ) Copper.and Silver
(3) Nickel and Zinc =~ (4) Zinc and Copper

BLBHJ-EE-June, 2023/(SET-X)/(A)
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it frsreng @ - - |

(1) Fepe SR s (2) dfer AR =i

(3) Pt ok ffeh - (@) R oI e
88. The most abundant metal in the earth's crust is :

(1) Zinc _ ~ (2) Copper

(3) Aluminium | (4) Tron

g-qddt # |aifees A= ﬁ mé S A O @

(1) R | g (2) dfEm

(¢) o (@) e

89. Sangam Literature is associated respectively with :
(1) Sanskrit and Tamil Nadu '
(2) Pali and Bihar
(3) Tamil and Tamil Nadu
(4) Prakrit and Gujarat
T drfecd shART: W%ﬂ g

90. Ancient Ruling ‘Dynasties' Pand.y.as and P{allav'as were }élssociated With :
(1) Eastern Coast of India
(2) Western Coast of India
(3) North-West India
© (4) North-East India
m@eﬁrqﬁanﬁﬂsmwsﬁﬁgéa

(1) 9 & @i < = (2) AR & uf¥edl <
(3) SaR-urREHl TR | (4) W—‘Ifﬁ R
BLBHJ.EE-June, 2023/(SET-X)/(A) L P e FPITIO.
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91. William Jones and Mortimer Wheeler are associated respectively with :

(1) Survey of India and Archacological Survey of India
(2) Asiatic SOciely énd Archaeological Survey of India
(3) Archacological Survey of India and Asiatic Society

- (4) Asiatic Society and Deccan College |
Rifem w ol AfER B e aated ¥
(1) s e AT R e wde A
(2) cRREfes qramd oIt 9RdE R J9er |/
(3) W Qe e ol uRERE W @
(4) aRraRF drEEd AR e AT A

92. The term antibiotic was coined by :

() Edward Jenner - (2) Alexander Fleming
(3) Selman Waksman (4) C.V.Raman

| GAEifeE a= RRE® BRI e T ? |
(1) geas R @ @t W
3) dede dwEE (4) dio do =

93. Who éoingd the term biotechnology :

() KarlBrkey | (2) Kornberg
(3) Woodruff ' (@) Arber
SRS ST RREd ET TGl T ?
(1) el 37hi o (2) Wivtert
(3) 3= il (4) s

BLBHJ-EE-June, 2023/(SET-X)/(A)
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94. Milk tastes sour when kept in the open for sometime due to formation of :
(1) Carbonic Acid (2) Lactic Acid |
(3) Malic Acid (4) Citric Acid -
™ B HE Y B R g # W@ IR IEH @R G B AT B, TR
HROT B - 3 , ‘
(1) Tt s (2) & orT
(3) Bfers ov : (4) R et
95. A common florescent titbe contains'; -
~ (1) Sodium Vapour -~ (2) Mercuric Oxide and Neon
(3) Argon at low pressure - (4) Mercury Vapour and Inert gas
T gHT wRde o9 | éﬁT g | | | 4
(1) SfEaw amy (2) TRFRE sieraEs ol Fam
(3)ﬁr1:fmtr{anﬁ:r-' (4) arr g iR eAfEa T
96. In which state the maximum number of seats reserved for scheduled mbe for
Lok Sabha ? _ ‘ '
(1) Chhattisgarh , . (2) Jharkhand
~ (3) Madhya Pradesh - " . (4) Maharashtra
| ﬁmwa@wm%ma@@am%mmmﬁm
g7
(1) BT (@ ewEE
(3) TEAISLT | (4) oIS,

97. International Day for Biological Diversity is observed on :

() 22nd April @ DMy
(3) 24 July e ) 22nd May |
' Siqisig S fafgean EERW HET AT 3
(1) 22 38 B . (2) 237 #
(3) 24 @8 B @ 27 W
BL?H.’I-EE-June, 2023/(SET-X)/(A) D i P.T.O.
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98. In which national park the Cheetahs brought from South Africa and Namibia are

housed in :

(1) Kanha National Park (2) Kuno National Park

(3) Kaziranga National Park = ~ (4) Ranthambhore National Park
gtﬁwa@waﬁq@ﬁmﬁmwﬁaﬁﬁw@ﬂmﬁ?@w
(1) FaT T e (2) FF T T

(3) AT AT TE () Pl e a

99. India is classified recently by World Bank as :
(1) Lower Income Economy - (2) High Income Economy
(3) Middle Income Economy: - (4) Lower-Middle Income Economy
qRa @ B & § fasg ¥ aw ofiga Rear @R N
(1) Pret ot arelfereee () v= o s

(3) HeH a:tei-cqa@ﬂ (4) ﬁm—qw See eqaiarcﬂen

100. Whlch is the largest fish producmg state in Ind1a =
(1) Kerala - (2) Tamil Nadu

(3) Karnataka . (4) West Bengal-

_Wmﬂaﬁa@mmwﬁ?—w%?
(1) . | | (2) afFerTg

3) FH - (4) e S
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(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO)

B ~ BLBHJ-EE-June, 2023 SET-X
LL. B. (Hons.) Five Year Integrated 10858

Time : 1% Hours - Max. Marks : 100 ' Total Questions : 100
Roll No. (in figures) (in words)

Name " Date of Birth

Father's Name Mother's Name

Date of Examination

(Signature of the Candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER. o

1. All questions are compulsory. :

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him / her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in vi

_ the candidate so that a copy of OMR Sheet may be kept by the candidate. ,

4. Question Booklet along with answer key ofall the A, B, C & D code shall be got uploaded on the
University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within

24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
considered.

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,

' may be done in the question booklet itself. Answers must not be ticked in the question booklet.

o negative marking. Each correct answer will be awarded one full mark.
overwriting and more than one answer in OMR Answer-Sheet will be treated

6. There will be n

cutting, erasing,
as incorrect answer. , .
7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8 Before_answefing the questions, the candidates should ensure that they have been supplied correct
" and complete booklet. Complaints, if any, regarding misprinting etc.. will not be entertained 30

minutes after starting of the examination.
. BHJ-EE-June, 2023/(SET-X)/(B)
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-Questions 1 to 10 : In the following questions mark the part with the error.

1.

(1) These kind of apparel
(2) seems to be expensive'
(3) but is relatively - -

(4) affordable to maintain

(1) Neither Ajay
(2) nor his brother
(3) can type faster

(4) than me.

(1) Being a sunny day |
(2) we went out

(3) for picnic.

(4) in the park.

(1) The English

(2) defeated French.
(3) in the

(4) battle of Waterloo

(1) An old man in the crpwd-

(2) Wamed Julius Caesar
(3) about the danger of death .
(4) on certain day. .

(1) It is not my business
(2) to give an advice to those

(3) who are not sensible enough

4) té deal with their own problems.

BLBHJ-EE-June, 2023/(SET-X)/(B)
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o

7. (1) The General and his Wil
(2) were invited
(3) ftor the children's day (..L‘lbhl ation
(4) at our school

8. (1) No sooner did the
(2) bell rung
(3) the iaoys came
N C) out'of the class

9. (1) How long
(2) is she
(3) working in
(4) the office.

10. (1) Ajay told me
(2) that he wrote a letter
(3) to his boss
(4) for a certain reason

Questions 11 to 15 In the following questions four words/optlons are gwen out of which
these choose the incorrectly spelt word. | :

11. (1) Hallucination
(2) Bombardment
(3) Randevous
(4) Emeritus

12. (1) Gratification
(2) Defection
(3) Vaccuum
(4) Accessory

BLBHJ-EE-June, 2023/(SET-X)/(B)
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13. (1) Aparthied
(2) Diaspora
(3) Subaltern
-(4) Transparent

14. (1) Trepidation
(2) Tresspassing
(3) Absurd -
~ (4) Philanthropic

15. (1) Ominous
(2) Acrimonious
(3) Curative
(4) Bizaire

Questions 16 to 20 : Choose the one word substitute for each description.

16. one who devotes himself to pleasure.
(1) canonist
"(2) lustful
(3) hedonist
(4) pleasurable

17. ashort stay at a place.
'(1) sojourn
(2) transit
(3) holiday
(4) sortie

18. A place where weapons and ammunition are stored.
(1) weaponary |
. (2) arsenal |
(3) bunker’
(4) vorticism

BLBHJ-EE-June, 2023/(SET-X)/(B) P.T.O.
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19.

20.

21.

22‘

23.

_24.' '

25.

known only by a few, |
(1) clljptic
(2) eclectic.
(3) ecstatic

(4) esoteric

one who copies from other writers.

(1) plagiarist
(2) copyist
(3) limerick
(4) ascot

?ﬁ'{WEbTWPﬁW%
(1) g
(3) IETE

‘SqIrE’ %Wﬁmmwﬁﬁq

(1) =tz it

- (3) faEmes Wk

‘T’ ﬁwgaﬁm”f%
() a
3) u=

ﬁaﬁ%ﬁrffng'cﬁrm%:
(1) &6
3) R .

J& 9= sifeg :
(1) Af9p
(3) 3T

BLBHJ-EE-June, 2023/(SET-X)/(B)

(2) =y
‘(4) oq

2) werRdr g9t

(4) giEET qa

oS

(4) o

@) B
(4) s

(2) :ﬂﬁrﬁzﬁ
(4) IuwH
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26. STgE = BifeT :
(1) s1ex R | (2) ST
(3) ST | S (4) 3T
27. ‘@ W wAEE ¥
c() s (2) gamEr
¢) T=H (4) TUSER
28. B T F TR TE ¥ ? £
(1) BRoT R | (2) 19T
@ T | @
29, ‘o & wel Rl = 1 wAT BRI :
(1) = | (2) zfa
(3) T LT @) ' e
30. = F A @ gfe @ ToT e g Y
(1) HHA-TFT | (2) SATE-HTT
(3) RIS _ - (4) Efg-fame
31, 3 ¥ AT owiEHER TETE ? -
(1) =7 _ () S
3) eI (@) SR
32, aXRT = F @ o W BRI
(1) = U (2) =0
@) ar ' . (4) W §
33, ‘eTe IS HEER H FEt o S
(1) GH1g HEAT " (2) fearer FemEr
(3) awell T | (4) r=m @
34, ‘RmErdor & BT EEE ¥ 2 L
(1) FHHaRA g S (2) @gAite
3) TGy . . @ EE
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35.

36.

37.

38.

39.

40.

wﬁvmﬁﬁa—mm%?. )
() &' : (2)asﬁqﬂzr

(3) IS (4)3@% -

‘Iegar’ @ Aty il ¢ /

(1) I + 99 - (2) 3q + [

() S + A (4) 3R + 9™ :
Wﬁﬁ%ﬁw =9 agia & R @@l QTEEFTW%”W:'
(1) Mgemshy (2) ds&™

(3)‘&%35@% 4) R
Wwﬁmmﬁmﬁﬁ@’\wgﬁ&quwm

(1) Jufsta (2) TSR

(3) =iy - (4) RS
iﬁms@aﬁ‘r‘aﬁaﬁﬁaﬂﬁ%m A ST @ AERT HAT ERT
'(I)QE'T( (2) =i
(3)3@?{ 4 Fe | |
Waﬁzs?f@rg:ﬁ mawafﬁzﬁmﬁas‘?amcmzﬁrawﬁﬁm:
() g | (2) ST

a1,

@)@ (@) st

In India seats for women are reserved in :
(1) Lok Sabha
(2) State Legislative Councils

"(3) Cabinets

(4) Panchayati Raj Bodies

AR H Afeemelt & fog €Y emfa %
(1) e |

(2) T fqur aRws) &

(3) dfee &

(4) 9=t o P
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- 43.

42,

Consider the following statements on the meaning of communal politics.

Communal politics is based on the belief that :
(A) One religion is superior to that of others

(B) People belongmg to, different I'CllglOl’lS can live together happlly as equal cmzem
(C) Followers of a particular religion constitute one community,

(D) State pchr cannot be used to establish the domination of one religious groups

over a other

[

Which statement is/are correct 7 '
(1) A,B,C,D - : 2) A, B&D

- (3) A&C o (4) B&D
'Hmmﬁmm:ﬁﬁ%aﬁ%m%ﬁﬁmﬁfﬁaﬁzﬁﬁwﬁamﬁy

Emﬁfswﬁﬁfsﬂﬁswwamﬁﬁ%ﬁs.
(A)us o gEd |/ AT 'l . -
(B)ﬁﬁﬁaﬁ%@ﬂwwﬁﬁ%wﬁgsﬁﬁwmﬁaﬁ%l

(C)@ﬁﬁqﬁ%aﬂa@@wwmm%l | .
(D)@aﬁ%a@w@wqﬁawﬁam%ﬁmmaﬁsﬁaw
G@Wﬂﬁmmm% :

Pr-ar Fe e B P o |

(1) A,B,C,D e '(2).A‘,BETQJTD

@) Agmc 4) BaarD

Which among the following statement about Ihdian Cdnstitutio_n is wrong ? |

(1) Prohibits discrimination on ground of religion .

(2) Gives official sté}tus to one reli‘gion'

(3) -Provides to all individuals freedom to profess any religion

(4) Ensure equality of citizens within religious communities :

BLBHJ-EE-June, 2023/(SET-X)/(B) ; Wit . PR.T.O.
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Wvﬁrﬁﬂ%aﬁﬁﬁwﬁmﬁﬁ%zﬁﬂmwm g ?
(1) & & ST o FewE 9x A @ ¥
(Z)Wﬁﬁaﬂfﬁiﬁlﬁ%ﬂﬁf%ﬂ%l
(3)mﬁaﬁaﬁfaﬁﬁ?€rﬁﬁaﬁaﬁmﬂﬁﬁwd:{muqm chml%l
(4) |G T & Mo TRE % e gRREd B B

44. Which of these is nor a good argument in favour of democracy ?

. (1) Peoplc feel free and equal'in democracy
(2) Democrac1es resolve conflict in a better way than others.
3) Democratlc government is more accountable to the people. .-

(4) Democracies are moré prosperous than others. ,
WA= F U= H 34 § - o om 7@ TP
(1) ST e & w@ds R a9 wegw e Bl
(2) S FEdd B gar F dud @ Jeer a0 ¥ geerd T
(3) Srhelii=h, TXHX AN & uiy i st adr
(4)mw.aﬁwﬁaﬂﬁzﬁm%l

45. Which of these provision that a democratic constltutlon does not have ?
(1) Powers of the head of the state

(2) Name of the head of the state
(3) Powers of the legislature

(4) Name of the country
Eﬁ%ﬁ?wwwﬁmﬁmﬂﬁmﬁ 7o %?

(1) T & s A R
(2) I F ygE H AW
(3) et @ afererall
(4) 231 1 AT

BLBHJ-EE-June, 2023/(SET-X)/(B)
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46. Which of these is not a good reason 1o say that Indian Elections are democratic ?
(1) India has the largest number of voters in the world |
(2) India's clection commission is very powerful
(3) In India, everyone above the age of 18 has a rlght to vote |
(4) In India, the loosing partles accept the electoral verdict. -

?@#W%%ﬁﬁ@mw Hﬁ%ﬁﬁﬂﬂ?ﬁqgﬂlq SIERIEL?

? | 5
(I)Wﬁgﬁm%aﬂ%{aﬁﬁzﬁm%l
(Z)WWWWE@HST%W@%I b i
(3)Wﬁlsaé€faﬁixzﬁaxrg%qﬁzﬁaqﬁﬁa?rwwm%|
'(4)Wﬁaﬁaﬁﬁmﬁmgméﬁa=rﬁmaﬁlzﬁzmm%l

4'7.. If you are elected as a President of India which of the following declslon can you take

on your own :

(1) Select the person you like as Prime Minister

/

(2) Dismiss a Prime Minister who has majority in Lok Sabha
(3) Ask for reconsideration of a bill passed by both the HOuses.

(4) Nominate the leaders of your choice to the council of Ministers.

uﬁmwa‘swﬁf%mﬁiﬁaﬁ% ﬁrmﬁwﬁfiﬁﬁﬁaaﬁﬂw

frofa wf @ G € 7 |
(1)waﬁﬁwawﬁﬁ1ﬁaﬂqqamﬂ3ﬁ%wﬁmm%l

(2)ahwmﬁa§qamﬁaﬁmmﬂsﬁa?ra@hﬂaﬁl

(S)ﬁmﬁmqﬁaﬁmq?m%ma%n
(4)axq—3'rwa%:‘maﬁa?rqﬁmﬁqﬁﬁ:rmﬁo—daﬁl

48. Who among the following is a part of the political executlve_ ?
(1) District Collector | i |
(2) Secretary of the Ministry of Home Affairs
(3) Home Minister :
(4) Director General of Police

BLBHJ-EE-June, 2023/(SET-X)/(B) P.T.O.
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ﬁwﬁmﬁaﬁﬁrmﬁmmmm%w%?
(1) R e
(2) T8 "y & wiaa

(3) TeH=
(4) g9 HEIRRTEn

49. Which of the following statement about the Judiciary is false ?

(1) Every law passed by the Parliament needs approval of the Supreme Court

(2) Judiciary can strike down a law if it goes against the spirit of the Constitution

(3) Judiciary is independent of the Executive '

(4) Any citizen can approach the Courts if righfs are violated

i B 9§ Frefiad §  @e-ar U oHe § 7

(l)wmmﬁﬁgﬁzﬁwﬁmw%a@ﬁaﬁmsm
et B 1

(ﬁwrf%ﬁﬁfmwﬁﬁaﬂﬂﬁﬁ%uﬁagaﬁmﬁm%
faes ST B _ , .

(3) TaIfeTeRl, HEAATE @A 8 |

(4)amwwaﬁwﬁéﬁmﬂﬁmwwm%l

50. Whlch of the following institutions can make changes to an ex1stmg law of the

country ? '

(1) The Supreme Court (2). The President ’

(3) The Prime Minister ' (4) The Parliament =
ﬁwﬁr@aﬁﬁaﬁw@rw%ﬂ%mwﬁwmm%?
(1) gim & ~ (2) usgufa

(3) ga=HaT (4) HE=

51. Which of the following rights is available under the Indian Constitution ?

(1) Right to work

(2) Right to adequate llvellhood
- (3) Right to protect one's culture

(4) Right of brotherhood

BLBHJ-EE-June, 2023/(SET-X)/(B)
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ﬁrﬂﬁr‘rﬁaﬁﬁf@fqﬁﬁwmwﬂ?ﬁqﬁﬁm%mw&r%?
(1) T FHIA BT SAABIT

- 52. Which of the following freedom is rof available to an Indian citizen ?
(1) Freedom to criticize the‘govemment |
(2) Freedom to parti.cipate in armed revolution |
'(3) Freedom to start a movement to ché’nge a govemment

(4) Freedom to oppose the central values of the constitution

':ﬁwi%ﬂ@afi@rﬁﬂ-%ﬁzaawww?ﬁa:mﬁzﬁaﬁrmﬂaﬁ %?
(1) T H AT HA B =T,
(2) | shifer A RT @ @l FeEar
(3)14@?%%%@@41&1@?@63?{%@%61
4) Hﬁfqﬂ%%ﬁq@ﬁmwiﬂzﬁﬂdﬂdl

53. The important feature of a federal government is

@) Natlonal government glves some powers to the provmc1a1 governments.
(2) Power is distributed among the lcglslature, executive and Jud1c1ary.

" (3) Elected officials exercise Vsupreme‘powervin thé government.
(4) Government pnwe_r is divided betWéen different levels of the government.

@ AR B el R ¥
(1)@uwnﬁawﬁzﬁra§§smm%?ﬁ%n
(2) it faentaen, mqmaﬂiammﬁw%eﬁaﬁﬁﬁﬁzﬁm%l
(S)ﬁaﬁﬁmmwﬁﬂﬁi—as@ﬁwmaﬁ{%%l
(4)msmw%ﬁm:rwﬂ%aﬁﬂmﬁﬁ%l

BLBHJ-EE-June, 2023/(SET-X)/(B) ke TaRpeRBl st A ERITO.
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54. Consider the following statements :
(A) In a federation the powers of the federal and provincial govcrnmenls are clcarly
- demarcated.

(B) India is a federation because of the powers of the Union and states governments are
specified in the constitution and they have exclusive Jurxsdlctlon on their rcspective

subjects. A

(C) Sri Lanka is the tedcrallon because the country is divided into provinces.

(D) India is no longer a - tcderat:on because some powers of the states have bccn
devolved to the local government bodies.

Which statement given above are correct ?

(1) AAB&C | (2) A,C&D

(3) A&B (4 B&C

FrfeRaT M ) e Sk -

(A)@H;ﬁmahm?ﬁnmﬁaﬁsmﬁwwma%ﬁwﬁﬁm
STIAT & |

(B) IR PR %1 il & HRT b | B SR o vl B e &
gﬁl?ﬁsmw%ahw%waﬁﬂaﬁaﬁmﬁwﬁmaﬁﬁw%ﬁ

|

(C) siicient &w B =ife 3z wiah ¥ i & |

(D)%TRHGW@HH%‘T%?@%W@@@QWWWW
H BENART BT & T T

IR RU M@ HT-J Fo g E? |

(1) ABaamCc -~ (2) A,CqarD

3) AT=TB i (@) BEC

55. In dealing with social divisions Wthh one of the followmg statements iS not corrcct

about democracy ? _
(1) Due to political competmon in a democracy, social division. get rcﬂected in

polmcs : ‘ X
(2) In a democracy it is possible for communities to voice their grlevanccs ina

peaceful manner.
3) -Democracy is the best way to accommodate social diversity

(4) Democracy always leads to dlsmtegratlon of society on the basis of soc1al
divisions.

BLBHJ-EE-June, 2023/(SET-X)/(B)
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m%@ﬁﬁmﬁﬁ@aﬁﬂ%ﬁﬁﬁmﬁfﬁaﬁﬁéﬁﬁw'mm
-(Dggﬁﬁimﬁﬁ@nﬁmﬁ%amwamﬁmﬁw#%wﬁﬁﬁiﬁﬁﬁm

|- '
(2),W§W%Wﬂ%ﬁﬂa%ﬁséam?ﬁﬁmmﬁaﬁ'sﬁﬁgﬁaﬁwa'
(3) S ST A B A e @ R o T 8
(4)m@snmmﬁwﬁ%wmwwﬁmﬁaﬁaﬂia
| : ' '

56. What is the guiding philosophy of the Bhartiya Janta Party ?

(1) Bahujan Samaj R ) «Revoluti'onary Democracy !
(3) Integral Humanism (4) Modernity

| e o T b Aresih i wm et »

© (1) FgI T () wifEErd A
(3) THH HAHEAE N G R:11 (o

57. Consider the folldwing statements on partics i
(A) Political Parties do not enjc;y much trust among the people.
(B) Parties are often rocked by scandals involving top party leaders.
(C) Parties are not necessary to run the governments. : -
Which statement given above are correct ? £
(1)AB&C | (2 A&B -
3)B&C | (4) A&C.
qﬁﬁr%.a&ﬁﬁwﬁ@am‘aﬁmw@%: .
(A) TR T At @ e e Ryqard i oTE ST A T
(B)qﬂ%aﬁéﬁwﬁ%@mﬁéwﬁﬁw%wﬁ%n
(C) Tk T & R <t @7 S STEYES el T |
wﬁqﬂqaﬁm-ﬁwaﬁ%? U

'4(1)',A,BH?JITC gl (2) ATTB

(3)Bagﬂc » 4) AdgarC -

BLBHJ-EE-June, 2023/(SET-X)/(B) p.T.O.
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38. In the context of assessing democracy Wthh among the following is odd one out.
Democracies need to ensure : :
(1) Free and fair electlons (2) Dignity of the individual
(3) Majority rule (4) Equal treatment before‘law
Jh & e & df F FPrfRag § ¥ gaar Asg D ?
e Y GRRET B B oTavadar © -
() =@ SR gt g (2) =T 3 TRET
(3) SE9T W G (@) I B GEY g9 e

59. Studies on political and social inequalities in democracy-show that : =z |
(1) Democracy and development go together , R | /
(2) Inequalmes exist in democracies
(3) Inequalities do not exist under dlctatorshlp
4) Dictatorship is better than democracy
mﬁwﬁmﬁwﬁmmﬁwawﬁww%ﬁﬁ:
(1) sed= IR e arer-arer aay &
(2) TIhd= F ST Ao ®
(3) TN & qEq AN AigE e %‘
(4) TIATEN Tepa @ Jea%

4

60. In the context of democracies, which of the following idea is correct ? :
Democracies have successfully eliminated : '
(1)‘ Conflicts among people
(2) Economic inequalities among people
(3) Difference of opinion about how margmalised sectlons are to be treated

(4) The idea of political inequality

ﬁwﬁvw@aﬁﬁmﬂ%wﬁraﬁq-wwwﬁ?
- R ¥ WHIES FHIT HY AT B
(1) SR B e e
(2) A & drg e SrEHTE
(DWaﬁ%m%maamﬁmm,waﬁﬁqaﬁa
(4) TSI STEHEECET 6 =

BLBHJ-EE-June, 2023/(SET-X)/(B)
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61. On which continent did an upright-walking ancestors of human being originaté ?

(1) North America

(2) Australia

(3) Africa (4) Asia
ﬁaﬂﬁﬁmﬁmﬂa%rﬁvﬁaﬁwﬁrﬁwmﬁ@ﬁ?
(1) STa ARe (2) sirefmar -

(3) STShiehHT (4) qffmn

62. What was the name of the. SUper Contment of 200 million years ago?

(1) Pangloss

(3) Pangaea
200ﬁ{m=raé'§i%qg@tremwwm?
(1) FeE :
(3) Tisa

63. In which Indian Religionis

(1) Sikhism

3)J ainism

g

mrcﬁuaﬁﬁgarﬁm

(1) = et
(3) 99 @A

(2) Panama
(4) Pantarctlca

(2) 9™l

(4) YmerHiEmr -

@) Buddhism.

(4) Hmdulsm

15

’}Karhapréshad' distributed as part of worship service ?

3o wq H ¢ mﬁaﬁﬁﬁww%?‘

() = 99
(4)1%—@'@

64. The Moplah Rebellion (1921) took place in
(1) Telangana
(3) Malabar -

Hraen A= (1921) irgcm oqr 7

(1) QT
(3) HIET

(1) Pak Desert

(3) Gobi Desert

BLBHJ 7EE-

June, 2023/(SET-X)/(B)

- (2) Vldarbha
@) Rohilkhand

65. The Thar Desert continues into Pakistan and called as .....ccooee .

. (2) Sahara Desert

(4) Cholistan Desert

Scanned with CamScanner
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66.

67.

68.

69.

- BLBHJ-EE-June, 2023/(SET-X)/(B)

NORSE?

Pollutants that are introduced into the environment by human activity are called as :
(1) Qualitative Pollutants (2) Quantitative Pollutants :

(3) Anthropogenic Pollutants (4) ‘All of these
Wmmﬁmwmﬁmsﬁaﬁmﬁmﬁﬁ%

(1) OIS TgEH (2) AEHE TGHD
(3) AFESA UgHh | (4) SYURT T

Brass is an-alloy of :
(1) Nickel and Copper
(3) Nickel and Zinc -

~(2) Copper and Silver
(4) Zinc and Coppef

diaer ey B ‘
(1) feper ol dism (2) diEl AR =D
(3)%%@1&*5 s ._(4)%iesa'i’ma1’a1_
The most abundant metal in the earth's crust 1S : '
( I) Zinc ' 2) Copper

4) Iron ,

(3) Aluminium |
e § watfees AET F tni? ST ARl O
- (2) dien
(3) TegfrE () S

Sangam Literature is associated respectively with :

(1) Sanskrit and Tamil Nadu

" (2) Pali and Bihar

(3) Tamil and Tamil Nadu
(4) Prakrit and Gujarat

Scanned with CamScanner



9 gife eI T ©
(1) G&pa AR dieTg |
(2) 9ifer ok Rer

(3) afre ol afterrg

(4) et AR PO

70. Ancient Ruling Dynas;cies Pandyas and Pallavas were associate& with .
(1) Eastern Coast of India | 5
(2) Westem Coast of India
3) North West Indla
(4) North-East India
Waﬁ?waql?ﬁ?smwsﬁ@rg%a
() 9Rg & @ a< (Z)ﬂnﬁ%qﬁaﬁrat
(3) STE-ufReHr WA | ’ ) G?R'—giﬁ TR |
71. William Jones and Mértirr'ier Wheele; are as_:soci'ated ..resp'éctiv_ely with :
(1). Survey of India and Afc}iaeolqgical Survéy.oflndia l
(2) Asiatic S_o'ciety and Archaéological Survey of India- A ]
(3) Archaeological Sﬁwey of India and Asiatic Society |
(4) Asiatic Society and Deccan College |
Rifr. St R AR &eT FA e ¥
(1) e s AR A R W |
2) Qf?emﬁﬂs ﬁmm??r AR AR g qaReT 8
(3) AR gRIeE gJerer $iT afries dramEd |
(4) qRrR e i 2 e A

- BLBHJ-EE-June, 2023/(SET-X)/(B) P.T.O.
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72. The term antibiotic was coined by :
- (1) Edward Jenner

(2) Alexander Fleming
(3) Selman Waksman

7 (4) C.V.Raman
ddemaifes o= hes & el @ ?

(1) wead ST
(3)%61%1:{%

(2) TRRSEY TR

 (4) Hio dlo T

73.  Who coined the term biotechnology :

(1) Karl Erkey . ' (2) Kornberg

(3) Woodruff

(4) Arber
| SRS o Rred @ et T ?
(1) @t ot (2) Fert
®) 3w @) e
e i -

Milk tastes sour when kept in the open for sometime due to formation of :
(1) Carbonic Acid (2) Lactic Acid

(3) Malic Acid 4) Citric Acid |, '
gﬂ@f@ﬁqﬂ%mtﬁfﬁtedeﬁw Mlq@m‘aﬁﬁﬁn% N

HIRT 8§ |
(1) HEies o= | (@) #e o

(3) Afew oA | - (4) Tofes o

75. A common ﬂoresceni tube contains : |
(1) Sodium Vapour (2) Mercuric Oxide and Neon

(3) ‘Argon at low pressure .

Th A RIREe gy ﬁ e ¥ ,

(1) SfEem ar , (2) TR STrEs o frat

Q) P g e (&) T 9 o efha m

(4) Mercury Vapour and Inert gas

BLBHJ-EE-June, 2023/(SET-X)/(B) s
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76. In which state the maximum number of seats reserved for ‘scheduled tribe for

Lok Sabha ?
(1) Chhattisgarh (2) Jharkhand
(3) Madhya Pradesh - (4) Maharashtra
gmﬁm%mwm%mmm@%m
(1) s<iIETe (2) FRES
(3) HETERT | O] ngrm%: |

77. International Day for Biological Dlver31ty is observed on :
(1) 22nd April - (2) 23rd May
(3) 24 July . o (4) 22nd May

ISy Sa ffguar Red AT SIS

(1) 228BT BT - @) 237 B
3) 24gafré Eal SN O] 22 1 &l

78. In which national park the Cheetahs brought from South Africa and Namibia are

housed in :

(1) Kanha National Park
'(3) Kaziranga National Park
mm@m%m<miﬁﬁaﬁﬁwmmﬁmw
g7 : | , ,

(1)%0@1:@? @) T T SE |
(3) BT TS JEA S (4) o T S

79. India is classified recently by World Bank as :
(1) Lower Income Economy (2) High Income Economy
(3) Middle Income Economy . 4) Lower-Middle Income Economy

Waﬁmaﬁﬁrwﬁzﬁmwﬁ%-mw%:
(1) For=1 ot Srederaean (2)3%Era¢ma¢eimaw |
(3) Hem o SideEERE (4) fFre-ea ST ayefemaeen

(2) ‘Kuno Natlonal Park
4) Ranthambhore National Park

13

B ————T

3
!

2
*)
=

BLBHJ-EE-June, 2023/(SET-X)/(B) ‘P.T.0.
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80. - Which is the largest fish producing state in Indija ‘7

(1) Kerala _ (2) Tamil Nadu
-(3) Karnataka (4) West Bengal
mewmmwﬁw—w%?

1) & (2) afrerrg
(3) Fes (4) wfe=m et

81, If in a certain language_,_‘ MADRAS is coded .as NBESB'I‘, how s
BOMBAY coded in that code ? ' :

(1) CPNCBX (2) CPNCBZ

(3) CPOCBZ , (4) CQOCBZ |
e Bt Mivee s §, MADRAS ®I NBESBT &% &9 % e far =i B,
@ SE 9T § BOMBAY @1 33 e frar s 7

(1) CPNCBX - (2) CPNCBZ

(3) CPOCBZ (4) CQOCBZ

82. Four usual dice are thrown on the ground. The total of numbers on the top faces of
. these four dice is 13 as the top faces showed 4, 3, 1 and 5
respectively. What is the total of the faces touching the ground ? -

(1) 12 . | @13

3)15 | @ Cannot be determined . -
wwwa%w%%aﬁﬁusﬂﬁwaﬁﬁwﬁs?mrw
BH 13 & 6. S wers wmer: 4, 3, 1 alx 53 B T A a

mi @) 13

@) 15 ot @ PR R or e
83. Select the related ﬁumb;cr fro‘m thé given qltematives. }

0 7:32::35:? |

(1) 146 : L | (2) 156

@) 160 "7 L v 4) 172

BLBHJ-EE-June, 2023/(SET-X)/(B)
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84.

85.

21
Pt 7 @ e e T o A
7:32::35:7 |
(1) 146 | ) 156
(3) 160 R @
Select the related ~ word from the ' givén | alternatives. -

PIGEON : PEACE: : ?-

(1) CROWN : HEAD - (2) WHITE FLAG : SURRENDER

~ (3) LAURELS : VICTORY (4 WAR:LIBERTY

Rrepedt § @ gfeg 95 @ Rl
PIGEON : PEACE : : 2 |

(1) CROWN : HEAD - "~ (2) WHITEFLAG : SURRENDER

(3) LAURELS : VICTORY . ' (4) WAR : LIBERTY

Select the option that is related to the third letter-cluster in the same way
as the second letter-cluster is related to the first letter-cluster. :

PLMO : PNMQ : : UDMS : ?

(1) RNEZ - (@ TQFY

(3) TNCA (& TNBV

mewWﬁWW‘W@ﬂWW%ﬁ

BLBHJ-EE-June, 2023/(SET-X)/(B)

WW—WU@%W—W%W%I
" PLMO : PNMQ : : UDMS ; ? ‘
(1) RNEZ | (2) TQFY

(3) TNCA (4) TNEV

P.T.O.
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' following words ?
(A) Mega
(B) Kilo .
(T, e = . i g
(D) Giga | |
(1) B,D,C,A . - @ ABCGCD
3) AC, B,D | @) B.AD,C
e et & @ B e St ST B
(A) BT :
(B) el
© &
(B0 A ot (2) A,B,C,D -
(3)ACBD' ey B A DO

87. A man from point A walks 20 m to the north, then turns left and walks |
- * 40 m again tumns left and walks 20 m. At last he turns right and walks 20 m- |
to reach at point B: Find distance and direction from point A to B. ? 1
(1) 20 m./West (2) 40 m./East

(3) 60 m./West | " (4) 60 m./East

ﬁgAéQ'cﬁemxﬁzovﬂ?rwﬁaﬁTm% fpT ‘ |
%maﬁm%eﬁzoﬁam%lmﬁ%ﬂgﬂﬁ%mgoﬁ

2orﬁaaa%ﬁngq§am%|ﬁgAaBazsﬁ§a@% Fretr S

T | :
(1) 20 Hewafem | @) 40 Fexigd
(3) 60 ‘ﬂ?{/qﬁat{ : 4) 60 -,-_ﬁz-{-/.ié ' :

BLBHJ-EE-June, 2023/(SET-X)/(B) i L A
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g8. Which one of 'the given answers would be a meaningful sequence ' of the

following words ? ‘

(A) Plant

(B) Fruit

(C) Seed

(D) Leaf

(E) Flower : : : ,

() AC,D,E,B -»(2)CBf)EA !

3) C,A,D,E,B _ (4 E,D,C,B, A

Ws@wmmmﬁaﬁ-wmﬁwa@qm?
(A) 9rEr '
(B) e

(C) =t

(D) T

(E) & :

(1) A,C,D,E,B ~ (@CBDEA

(3) C,A,D,E,B o '(4)EDC'B‘AA

e T R g Py S T ey

together from a certam 'point in the opposite

The speed of Manjeet is 60 km per hour and
What will be the distance betwecn them

89. Manjeet and Pawan start
direction - on motorcycles,
of Pawan is 44 km per hour.

after 15 minutes ?

(1) 20 km ‘(2) 24 km

| (3) 26 km (4)30km

i .nﬁﬁﬁaﬁ‘cqaﬂﬁm’msﬁﬁ%@ frg & Tom-A™ foada e &
aﬂg@m%qﬁﬁﬁaﬁrnﬁmﬁ?ﬁ gfer e & ofir waw @t TRy 44 fH
qﬁdﬂ%lmm%waﬂ%aﬁﬂﬁmﬁr@ﬁ? ‘
(1)20&51% | (2)24ﬁ'm’r
(3)261%5@ , . (4) 30 fHH

:
| .
é BLBHJ-EE-June, 2023/(SET-X)/(B) P.T.O.
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90. Complete the series :

{1 S— 1600, 2000, 2500, 3125
1) 1350 T (2) 1440
»(3) 125 @120
e A A
1024, <-enreee, 1600,‘2600, 2500,3125
(1) 1350. SRR ¢ 1440
(3) 135 o @y 1280

36 \ 140 18

(1) 58 | (2) 60
- (3) 62 Shwra LT (4) 64

BLBHJ-EE-June, 2023/(SET-X)/(B)
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93. If a cube is made by mixing 64 small cubes, then two faces of how many
small cubes will appear ?

(112 . | (2) 24
() 32 ‘ @) 42
AT 64 BR T B P T mmm,ﬁﬁfﬁﬁ@%ﬁ%aw
g & 7 .
(1) 12 : | 2) 24
(3) 32 S ) a2

94. Looking in the mirror it s‘ee_msi that: the clock is showing 6 : 30. What is the
actual time of the clock ? : A ' '
(1) 06:30 = _ (2) 05:30

(3) 06 : 00 - : . 4 05:00 - |
sﬁ%ﬁ%@%wm%%ﬁaﬁﬁ6 3OWT%%IH%‘TETW?5WW'
g7

(1) 06:30 » _ (2) 05:30

(3) 06:00 | (4) 05:00

95. If’ in the year 2016 the Repubhc Day was celebrated on Fnday, then in the
year 2020 on which day the Republic Day was celebrated ?

(1) Monday . ~ (2) Wednesday

(3) Friday ' (4) Sunday
qﬁaﬁzowﬁmﬂmwaﬁmw ﬁrasfzozoﬁwaa?n
fRag fpe R #=m@T TAT ? |

1) e 2) 3R

(3) gHaR b (@) TEER

96. Alok is 300 days older than Varun ‘and Sandeep is S50 weeks older than
Alok. If Sandeep was born on Tuesday, then on which day was Varun

|
;
i
]
}
;
¥
4

- born?
(1) Sunday , : (2) Monday -
(3) Tuesday  (4) Wednesday - 3
BLBHJ-EE-June, 2023/(SET-X)/(B) T AR e SR et W B0,
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an?hzsaﬁwa?,oomagr%aﬁ—{gaqm50W'a@%luﬁﬁﬂqm
ST T A gl T, A a6 & o Ree R o ot
(1) PR ) dmEr

(3) HIEER ‘ (4) ggaX
97. "All the members of the Tennis club are members of the Badmint(m club

too." No woman plays Badminton":

(1) Some women play Ténnis

(2) No member of the Tennis club plays Badfnin’toh
(3) Some women are members of the Tennis club

(4) No women is a member of the Tennis club = o
"%ﬁﬁwa%aﬁﬂw%gﬁﬁm%“msﬂaﬁﬁl"ﬁﬁm
(1) Fo A, 2| S 8 \

(2) 2 T w1 P T e T8 Swar ®
(3)@11%61'5,%%11%6,@@%' .

(@) B o TR AW A B owwE T E

98.

_ Count the number of triangles :
TCVH SRR, @ 9

(3) 10 g _ @ 11

" BLBHJ-EE-June, 2023/(SET-X)/(B)
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Prgstt @ g s a?ri’ﬂﬁ: x

(1) 8 | 2) 9
(3) 10 (4) 11

99.

Count the number of Straight Lines :

(1) 9 @1
(3) 13 ' 4) 16
el Tarelt # wEAr s BT

Mmoo | () 11
@) 13 o @16

- BLBHJ-EE-June, 2023/(SET-X)/(B) o ~ . P.T.O.
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100. Question Figure :

Eﬂ

Answer Figures :
== I
(1 @ e @
Which one is mirror image ? |
(1) 4 @1
3) 2 o S () 3
999 SHI : :
: M
E
N
(1) | 2 3) (4)
gy giafer H=-a1 8 7 :
(1) 4 | 2) 1
3) 2 - 43

BLBHJ-EE-June, 2023/(SET-X)I(B)
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(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU

C ARE ASKED TO DO SO)
BLBHJ-EE-June, 2023 SET-X

LL. B. (Hons.) Five Year Integrated 4,54

SI.NO. viieeccccrvrereaansasiins
Time : 1% Hours Max. Marks : 100 | Total Questions : 100
Roll No. (in figures) (in words) '
Name Date of Birth
Father's Name Mother's Name
Date of Examination
(Signature of the Candidate) , (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS‘BEFORE
STARTING THE QUESTION PAPER.

. All questions are coinpulsory.

2. The candidates must return the question booklet as
concerned before leaving the Examination: Hall, failing which a case of use of unfair-
‘means / mis-behaviour will be registered against him / her, in addition to lodging of an FIR with the

police. Further the answer-sheet of such a candidate will not be evaluated.

. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to

the Controller of Examinations by han

considered.

. The candidate must not do any rough work or :
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

. There will be no negative marking. Each correct answer will be awarded one
Cutting, erasing, overwriting and more
as incorrect answer.

_ Use only Black or Blue Ball
. Before answering the questions, the candida
and complete booklet.. Complaints, if any,

minutes after starting of the examination.
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1. In India seats for women are reserved in :

(1) Lok Sabha (2) State Legislative Councils
(3) Cabinets , (4) Panchayati Raj Bodies
AR ¥ Al & R @ omR ¥ -

(1) S 91 7 , (2) v~ fags ofRRwsy &
(3) HeAT # , (4) demEdt Tor Free

2. Consider the following statements on the meaning of communal politics.
Communal politics is based on the belief that :

(A) One religion is superior to that of others
(B) People belonging to different religions can live together happily as equal citizens
(C) Followers of a particullar religion-constitute one community

* (D) State power cannot be used to establish the dommatlon of one religious groups
over a other '

Which statement is/are correct ? Pl R

(1) A,B,C,D - | 2) A,B&D

(3) A&C : (4) B&D -
Wﬁmmﬁr%aﬁ%aﬁﬁﬁwﬁr@aaawwﬁ'aﬁaﬁl
TR TSI 56 faeard oy SfHia & R : |

(A)Th g9 g8 4 99 B
(B)Ww%mwwﬁﬁ%wﬁgsﬁ%@wwm%
A(C)@ﬁ%ﬁ%G@@WWWWW%I

(D)WaﬁmwaﬁrgﬁwugﬁzwﬁﬁW%mmaﬁsmm
YA A8t fopar S weRar B

HF-AT FHIT Get BE 7

(1) A,B,C,D (@) ABTEID
(3) AgarC ' (4) BaarD
BLBHJ-EE-June, 2023/(SET-X)/(C) = e P.T.O.
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3. Which among the following statement about Indian Coﬁstitution is wrong ?
(1)"Prohibits discrimination on gr(;und of religion |
(2) Gives official status to one religion
(3) Provides to all individuals freedon to profess any religibn
(4) Ensure equality of citizens Within religious .communities
uﬂ?ﬁwvﬁm%ﬁﬁﬁmﬁfﬁgﬁﬁﬁaﬁqwaﬁw s &7
(1)w%aﬂmwﬁ’@mwﬁmm%l,
(2) T et @ ST ot AT B
(S)Hﬁmaﬁnﬁ?@ﬁaﬁﬁﬁéﬁrmﬁwmm%l
(&) e e B e R A e R w g

4. Which of these is.hof a\g(')od‘ argument in favour of democracy ?

(1) People feel free and equ"alvin demoéracy.
(2) Democracies resolve coﬁﬂict in a better way than others. .
(3) Democratic go';/ernment is more accountable to the people.
4) Democracie.s are more prosperous than others. A

_@W%qaﬁsﬂﬁﬁa%ﬂwa%maﬁ g7
(1)w@ﬁaﬁweﬂtwmaﬂ%%n
(2)Wgaﬁaﬁgamﬁwéaﬁawaﬁ%éwﬁ%|
(ﬂahw%mw@ﬁ%qﬁfamamm%\

| (4)@'&1’3;9‘3?21%@?—?@%@%‘1.

BLBHJ-EE-June, 2023/(SET-X)/(C)
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5. Which of these provision that a democratic constitution does not have ?
(1) Powers of the head of the state
" (2) Name of the head of the state
(3) Powers of the legislature
(4) Name of the country
= q HIA-91 WG T it dfegE #§ 8 8 7
(1) T & wpa & ARt
(2) TG & TG B A
(3) Rrenforeer 2t sifererat
(4) 31 H A

6. Which of these is nof a good reason to say that Indian E lectlons are democratic ?
(1) India has the largest number of voters in the world
(2) India's election commission is very powerful
(3) In India, everyone above the 'age of 18 has a right to vote
(4) In India, the loosing parties accept the electoral verdlct

sﬁﬁ@ﬁqm%mﬁm@mwaﬁ%ﬁsﬂmﬁawaﬁmﬁm
g7 _
(I)Wﬁgﬁm%ﬂaﬁaﬁﬁmwé‘n

(2) ARG 0 AT TN g LA B |
(3)Wﬁ18aﬁéaﬁﬁzﬁa1g%maﬁﬁaﬁrwaﬁreﬁﬁw%|

(4)Wﬁaﬁaﬁﬁmﬁm§mzﬁa¢fﬁﬂa?rzzﬁw1m%|

7. If you are elected as a President of India which of the following decision can_‘you take

on your own :

(1) Select the person you like as Prime Minister
. (2) Dismiss a Prime Minister who has majority in Lok Sabha
(3) Ask for reconsideration of a bill passed b‘y both the Houses.

. (4) Nominate the leaders of your choice to the council oI’Ministcrs.'

BLBHJ-EE-June, 2023/(SET-X)/(C) P.T.O.
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4 . : c
Hﬁmw%wﬁ%wﬁgﬁaﬁ% @raﬂqﬁmﬁf@aﬁﬁﬁ?m
foota g @ ¥ € ?
(l)waﬁﬁaﬁrwﬁ%@rmqm%mﬁmaﬂﬁ%y
) RFEAT F TgHT @A A T B e B '
(ﬂﬁmﬁr@mqmﬁrémﬁwwﬁar{%ma%l
(4)Mw%ﬁm®ﬁqﬁvﬁﬂaﬁﬁmﬁ%ﬁazﬁ%l

8. Who among the following is a part of the polmcal executive ?
- (1) District Collector
(2) Secretary of the Miriistry of Home Affairs
(3) Home Minister: -
(4) Director General of Police

-ﬁw%@ﬁﬁéaﬁqtm:ﬁﬁtﬁmmw%w%?
(1) e sageT
S (2) TB HAWE & At

() g
(4) g TR

9. Which of the followmg statement about the J udiciary is fa[se : |
() Every law passed by thc Parhament needs approval of the Supreme Court.
(2) Judiciary can strike down a law if it goes against the spirit of the Constitution
(3) Judiciary is in.dependent- of the Executive |
(4) Any citizen can approach the Courts if rights are violated

mmmm%aﬁﬁﬁmﬁﬁaﬁﬁéﬁﬁwaﬁwamﬁr%?f

(1)mmmﬁaq@zﬁaﬂaﬁaﬁwﬁ—aw%a@hmﬁaﬂagm
Bl 21

(2)meﬁﬁmaﬁ%qﬁa€mmaﬁmw%
foes star 81 0 i

(3) =IRIAIRIT, HrAUER ¥ W@ |
(4)&Mﬁwwéﬁwaﬁéeﬁmwmm%|

BLBHJ-EE-June, 2023/(SET-X)/(C)
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10. Which of the followmg mstltutmns can make changes to an existing law of thc

country ?
(1) The Supreme Court E (2) The Presideht_

- (3) The Prime Minister (4) The Parliament
ﬁw%f@ﬁﬁéﬁwxﬁﬂwém%qﬁvﬂwﬁwmm%?
() g & Sl (2), TSR
(3) TeEE Gkt (4) HEE

,11. Which of the followmg rights i 1s avallable under the Indian Constltutlon 4
(1) Right to work '
(2) Right to. adequate llvellhood
(3) Right to protect one's cult_ure
(4) Right of brotherhood |

ﬁm%f@aﬁﬁﬁqwmwmm%amﬁaw&r%?
(l)amrrmﬁzﬁraqfﬁzsn s

(2) At TSR &1 STHR
'(3)%8@%2{%@%@%%

(4)s¢r§€rﬁaﬂaﬂ€ﬁm ,

12. Which of the following freedom is not avallable to an Indian citizen ?-
(1) Freedom to erltlclze the govemmcnt AT ) ot i
(2) Freedom to participate in armed revolution -
(3) Freedom to start a movement-to change a govemment :

(4) Freedom to oppose the central values of the constitution

‘W@ﬁﬁﬁﬁqﬁwwwmaﬁwwﬁ 4
(1) TP P STAFAT B Bl F=fell -
(2)Hmm%ﬁwm%%a%za‘dam - .
(3)Waaa%%%qmﬁm@amﬁaﬁmm
(4) dfrae & BEE gegt B AN B B @A

BLBHJ-EE-June, 2023/(SET-X)/(C) . " P.T.O.
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13. The important feature of a federal government is : 4
(1) National government gives Some powers to the provincial governments.:

“(2) Power is distributed among the legislature, executive and judiciary.
. (3) Elected officials exercise supreme power in the government. .
(4) Government power is divided between different levels of the government. :

wfrg EREIC @1 Hewagul AR ¥

() s R, SR O R & dre
(B)ﬁaﬁﬁ-aﬁﬁmwﬁaﬁﬁsﬁwmm%l
(4)14@113@6%%%@?@%@3%%%1'

14. Consider the .followirig statements :
(A) In a federation the powers of the fed
demarcated. :

(B) Indiais a federation because of the powers of the Union and st
specified in the constitution and they have exclusive jurisdictio

eral and provincial governments are clearly

ates governments are
n on their respective

subjects. ,
" (C) Sri Lanka is the fcderation because the country is divided
(D) India is no longer a federation because somec pOWETS of th

devolved to the local -government bodies.
2

into provinces.
e states have bcen

- Which statement given above are correct |
(1) AB&C () A,C&D
(3) A&B (4 B&C
(A) T da A wEE Sl gidE aXe gt @1 e w9 WA

ST B | b

(B) iRa AT W R} & HIROT T TH B A T TR & faaE A

gﬁqmw%aﬁ?aﬂ%_w‘wmﬁﬁwﬁsﬁq Fferpe &
| | '

(C) #fierT Gg B Fih F giqt & fafsa-g 1

(D)Wm@ﬁaﬂﬁ%ﬁﬁswaﬁﬁgsw-wﬁqm-w
P ewanRd HT & T B | -

T Ry T HH-d HET Helr &7

(1) A,BTarC. oA

(3) AT B.

BLBHJ-EE-June, 2023/(SET-X)/(C)

2) A,CTarD
4) Baan C

t
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15. In dealing with social divisions which one of the following statements is nof correct

about democracy ?
(1) Due to political competition in a democracy, social divmon get reflected in

polmcs
(2) In a democracy it is possible for communities to voice their gricvances in a

peaceful manner.
(3) Democracy is the best way to accommodate social diversity.

(4) Democracy always leads to disintegration of society on the basis of social

divisions.

Wﬁmﬁwﬁﬁﬁﬁﬁﬁ@w%aﬁﬁﬁmﬁr@aﬁ%ﬁqmaﬁw

e J8 ® ?
(I)Wﬁmmﬁ%wmﬁwmﬁfﬁqﬁ%ﬁaﬁ

BT B |
(2)@%&@%?@%Hﬂd%ﬁﬁ%ﬂﬁf§maﬁmﬁqﬁma

sqa%raﬁ'r
(3)%%%%@@@%%@@3@@@%

(4)@aﬁﬁagﬁsnwﬁzsﬁrﬁmﬁr%eﬂmwwaﬁ%maﬁaﬁia
ST B STl : . ,
16. What is the guiding philosophy of the Bhartiya Janta Party ?
(1) Bahujan Samaj ‘ |
(2) Revolutionary Démocracy‘

(3) Integral Humanism

(4) Modernity |
mﬁﬂmﬁwwﬁsﬁaaﬁw%?
(1) =g W |
“(2) wiferary SR
(3) WA AT .
(4) e P g | | LA
| A P.T.O.

BLBHJ—EE-June 2023/(SET-X)/(C)
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17 Consider the following st'ltcmcnts on partics : !
c.
(A) Political Parties do not enjoy much trust among the pcop1 .
(B) Parties are often rocked by scandals involving top party 1adets.

(C) Parties arc not necessary to run the governments.

Which statement given above are correct ?

(1) A,B&C . (2) A&B

3) B&C ' (4) A&C

qif¥t & aR § FrefaRad Hee ax e et
(A)Wﬁﬁsmaﬁvﬁ%aﬁaaﬁwmamwwﬁé%%l
(B)qﬁ%sﬁé%mwaﬂé.maqﬁmaw%aﬁ%l
(C) TR = & A el & ST AR T T |
'Wﬁq"ﬂ%l"lﬁ%QﬁWﬁ%q | :
(I)ABHQTTC - . (2)Aa'g;|TB'

G) BRI R (4) AT C

18. In the context of assessing democracy which among the followmg 1s odd one out.
Democracies need to ensure : , :
(1) Free and fair elections s N ) D,ignity of the individual
(3) Majority rule - (4) Equal treatment before law

W%W%Wﬁﬁﬁﬁ%@ﬁﬁ%ﬁ?—ﬂ@ﬂv%?
ehci= & GATRET B & TETHar & ‘

(1) @@= AR Freger ge=

(2) =afea it i

(3) FGAT BT ATAA

(4) BT & TH AN IR

19. Studies on political and social inequalities in democracy show that :
(1) Democracy and development go together
(2) Inequalities exist in democracies
(3) Inequalities do not exist under dicltalorship‘ \
(4) Dictatorship is better than democracy '

BLBHJ-EE-June, 2023/(SET-X)/(C)
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Wﬁﬂﬁﬁmaﬁmﬁmmﬁwmwﬁww%%
(1) sepes X e ar-ary =erd &

Q) Sepe F STEEEAT AoE B
(B)awsn'eﬁ%asamqﬁggqa%
(4)amsnﬁahaﬁa@raw%

20. In the context of democracies; which of the following idea is correct ?
Democracies have successfully eliminated : ‘
(1) Conflicts among people '

(2) Economic inequalities among people

(3) Difference of opinion about how margmallsed sections are to be treated
(4) The idea of polmcal inequality . o
W@ﬁﬁﬁ%ﬁﬂ%@ﬁﬁ?ﬁﬁwyﬁ%?

Repeisl A RIS FH BT 23 2 '

(1) | & g dad .

(2) @ & G SAfdis AL
(3)mﬁaﬁ%m%wmﬁmm svaﬁﬁqﬁ‘ﬁ‘q’

(4) T . erEHar @ e

21. -On whlch continent did an upright-walking ancestors of human being originate ?
(1) North America - ~(2) Ausiralia
(3) Africa ‘ (4) Asia }
@aaﬂﬁaﬁw%gﬁsﬁaﬁwﬁr%ﬂmﬁgeﬁ?
(1) o @ - () sfresferar 3
(3) STHIHT (4) T

22. What was the name of the Super Contmcnt of 200 million years ago ?
(1) Pangloss . (2) Panama
(3) Pangaea 4) Pwntarctlca
200 iR af g & HElEd w o AH o 7
(1) TremE ~ (2) 9T
(3) UdEr . (4) FeTEnie

.T.O.
BLBHJ _EE-June, 2023/(SET- X)/(C) P.T.O.
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23. In which Indian Religion is "Karhaprashad' distributed as part of worship scrvice ?
(1) Sikhism (2) Buddhism

(3) Jainism (4) Hinduism
frg WA gd & OO0 Aar & T & ®Y H ‘wHseads’ frafRa foFar S B 2

(1) fgerg =8 2) A= ud
(3) S = @) g o
24. The Moplah Rebellion (1921) took place in : |
(1) Telangana . ' (2) Vldarbha
(3) Malabar (4) Rohilkhand
qigar fage (1921) & gawmer ? . o
(1) T C(2) faet
(3) TEER (4) A=
25. The Thar Desert continues into Pakistan and called as .......... -
(1) Pak Desert (2) Sahara Desert
3) Gobi Desert ' 4) Cholistan Desert
oT I, TRRET 9% fAegd & R [
(1) 9 PRI Hed & - (2)H€m%ﬁr{ﬁrﬂaﬁ%%
(3) M I Fod & ' (4).Eh6ﬁm%ﬁwaﬁ%%

26. Pollutants that are 1ntroduced into the environment by human activity are called as :

(1) Qualitative Pollutants (2) Quantitative Pollutants

- (3) Anthropogenic Pollutants | (4) All of these | o
Wmmmﬁméﬁa@maﬁmm%

(1) JomeAsh g5 (2) AETHS HGHH
(3) AFESIT 95 (4) IUqerT G-

27. Brassis Van, alloy of : |
(1) Nickel and Copper ' (2) Copper and Silver
(3) Nickel and Zinc (4) Zinc dnd Copper

BLBHJ-EE-June, 2023/(SET-X)/(C)
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28.

29.

30.

dier Prererg @

(1) Frepet ofx afem . (2) sfar o =iy
3) Frepet ol R (@) R T g
The most abundant metal in the carth's crust is :

(1) Zinc (2) Copper -

(3) Aluminium | . (4) Iron

q-qde F watfees A0 F 9E S AR g @

(1) i | h (2) aie

(3) TegmREA (@) we

Sangam Literature is associated respectively with :
(1) Sanskrit and Tamil Nadu

(2) Pali and Bihar

(3) Tamil and Tamil Nadu

(4) Prakrit and Gujarat |

T e HEe TEtad 8

(1) e IR afeerg

(2) aifer X e

(3) it AR afFEg

(4) o ST oA

Ancient Ruling Dynasties Pandyas- and Pallav
(1) Eastern Coast of India =
(2) Western Coast of India

(3) North-West India

(4) North-East India

mvgqaﬁ'cq—aa;niﬁ?rsmwsﬁﬁ@%a |
(2) WA & dRFH T

(4) TER-gdl AR

as were associated with :

(1) ¥Ra & tgﬁ e
(3) SAC-qfREHT AR

BLBHJ-EE-June, 2023/(SET-X)/(C) -
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31.  William Jones and Mortimer Wheeler are associated respectively with :©
(1) Survey of India and Archacological Survey of India
(2) Asiatic Society and Archacological Survey of India

- (3) Archacological Survey of India and Asiatic Society

(4) Asiatic Socicty and Deccan College

Rifrm st oft ARERT e wwen wwafad ¥ :
(1) e @deroT AR A g™ adereT |

(2) s A S el g
(3) et g W ol qRmER A &
(4) cRrfes GrEwE ot T AT A

32. The term antibiotic was coined by :

(1) Edward Jenner ' (2) Alexander Fleming
(3) Selman Waksman - . (4) C.V. Raman
GEamEifes = BEEd &R Ter T 7 | "
(1) TeTE ST ) e R
() SR R (@) o @10 T
33. Who coined the term biotechnology :
" (1) Karl Erkey : | (2) Kornberg
(3) Woodruff () Arber
TR e fhad &1 Tl T 7
(1) FE o | (2) WA
0 T (@ e

' BLBHJ-EE-June, 2023/(SET-X)/(C)
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34. Milk tastes sour when kept in the open for sometime due to formation of':
(1) Carbonic Acid (2) ILactic Acid
(3) Malic Acid (4) Citric Acid ‘
T B FP T B ﬁn@ﬂrmﬁwmmm%ﬁmo,m
HRI B , -
(1) =i 3T | (2) aforees et
(3) Afe o7 (4) fafeen v
35. A common florescent tube contains :
(1) Sodium Vapour . (2) Mercuric Oxide and Neon
(3) Argon at low pressure (4) Mercury Vapour and Inert gas
Tk 9 WA 244 H Bl B ¢ |
(1) |fegq arsg - (2) TR IfidEe AR A
(3) Fr=T <9 WX e (4)maraqa?rraqﬁmi‘m
36. In which state the maximum number of seats reserved for scheduled tribe for
‘ Lok Sabha ? S
(1) Chhattlsgarh ' | . (2) Jharkhand
(3) Madhya Pradesh . (4) Maharashtra
Aﬁmﬂwﬁ@wm%maﬁﬁﬁmﬁr%mmm@%m
g7
(1) sdirerTe y () FrEs
(3) HeAURET : o (4) AR

37. International Day for Biological Diversity is observed on :

(1) 22nd April , (2) 23rd May
(3) 24 July | : (4) 22nd May
aﬁﬁﬂé’m St fafraen feaw w=m@T ST g
(1) 287 & (2) 23 9 @
(3) 24 TS W @ e
BLBHJ-EE-June, 2023/(SET-X)/(C) . , P.T.O.
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38.: In which national park the Cheetahs brought from South Africa and Namibia arc

housed in :
(1) Kanha National Park (2) Kuno National Park
(3) Kaziraﬁga National Park S @) Rz.mthambhorc National Park
%ﬁwm@wq@ma'mmeﬁﬁﬁmmfﬂmﬁww
(1) ST TS FAH (@ T T 3
(3) FEIET UL FEE - (4) TREEAR TS I
39. India is classified recently by World Bank as :
(1) Lower Income Economy (2) High Income Economy
(3) Middle Income Economy - (4) Lower-Middle Income Economy
W@raﬁé_ﬁﬁm‘a%mw‘ﬁzﬁrﬁmw%:
(1) Fr o Sefeaeen | (2) I A etefeman

(3) Hed A ST  (4) Pre-men ST e
40. Which is the largest fish producing state in India 2 '

(1) Kerala | () TamilNedu

3) _Kamata’ka . | (4) West Bengal

AR @ TR 99T Hue Sk T eﬁj—w‘% ?

maw @ afwg

(3) et | (4) =TT S

Questions 41 to 50 : In the following questions mark the part with the error.

41. (1) These kind of apparel
(2) seems to be expensive
3) but is relatively

4) affordable to maintain .

BLBHJ-EE-June, 2023/(SET-X)/(C) ‘
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42,

43,

44,

45.

46.

47.

48.

(1) Neither Ajay
(2) nor his brother
(3) can type faster
(4) than me.

(1) Being a sunny day
(2) we went out

(3) for picnic

(4) in the park,

(1) The English’

(2) defeated French
(3) inthe

(4) battle of Waterloo

(1) An old man in the crowd
(2) warned Julius Caesar

(3) about the danger of death
(4) on certain day.

(1) Itis not my business

(2) to give an advice to those

(3) who are not sensible enough

(4) to deal with their own problems,

(1) The General and his Wife
(2) wereinvited
(3) for the children's day celebration

(4) at our school

(1) No sooner did the
(2) bell rung

(3) the boys came
(4) out of the class

BLBHJ-EE-June, 2023/(SET-X)/(C)
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49. (1) How long
(2) is she

(3) working in
(4) the office.

50. (1) Ajay told me
(2) that he wrote a letter
(3) to his boss

(4) for a certain reason

Questions 51 to 55 : In the following questiohs four words/options are given, out of which
these choose the incorrectly spelt word. '

51. (1) Hallucination
(2) Bombardment
(3) Randevous

(4) Emeritus

52. (1) Gratification
(2) Defect.ion_
(3) Vaccuum
(4) Accessory

53. (1) Aparthied
(2) Diaspora | , .
(3) Subaltern ) | | o A
(4) Transparent ' | Bk | |

54. (1) Trepidation
(2) Tresspassing
(3) Absurd
(4) Philanthropic

i BLBHJ-EE-June, 2023/(SET-X)/(C)
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55. (1) Ominous
(2) Acrimonious
| (3) Curative
(4) Bizaire

Questions 56 to 60 : Choose the one word substitute for each description.

56. one who devotes himsclf to pleasure.
(1) canonist. -
(2) lustful
(3) hedonist
(4) pleasurable

57. ashort stay at a placc.
(1) sojourn
(2) transit
(3) holiday
(4) sortic |

58. A place where weapons and ammunition are stored. -
(1) weaponary |
(2) arsenal : p
(3) bunker
(4) vorticism |

59. known only by. a few.
(1) elliptic
(2) cclectic
(3) ecstatic

(4) esoteric

BLBHJ-EE-June, 2023/(SET-X)/(C)
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60. one who copies from other writers.
(1) plagiarist . '
(2) copyist
(3) limerick
(4) ascot

61. If in a certain language, MADRAS is coded as NBESBT, how g
BOMBAY coded in that code ? | | |
(1) CPNCBX (2) CPNCBZ
(3) CPOCBZ (4) CQOCBZ '
afy Frht Ffera s MADRAsa%NBbSBT%mﬁWWW
ﬁraﬁwﬁBOMBAYaﬁ%@ra@a@ﬁmm?
(1) CPNCBX (2) CPNCBZ.
(3) CPOCBZ ~ (4) CQOCBZ

62. Four usual dice are thrown on the ground. The total of numbers on the top faccs of
these four dice is 13 as the top faces showed 4, 3, 1 and 5
respectively. What is the total of the faces touching the ground ?

(1) 12 | AR (2) 13
3) 15 ' : (4) Cannot be determined
WW@WW@%H@%IQWW@WEH;;;@

WB%@%QNWWSTASIaﬁTS@ﬁ%%IW
mmmlaﬁc@,ﬂmﬁﬁ‘rﬁ%? '

&l
IS

(12 _ (2) 13 |

(3) 15 ' | | (4)%{%?@?%&1@%
63. Select the related number from the given alternatives.

7:32::35:7 :

(1) 146 o 2) 156

(3) 160 (4) 172

Rreredt & @ aarfi:ua HET F I B

15322135 o1 :

(1) 146 (2) 156

(3) 160 ' “(4) 172

BLBHJ-EE-June, 2023/(SET-X)/(C)
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64. Seclect the related word from the  given alternatives,
- PIGEON : PEACE : : ?
(1) CROWN : HEAD (2) WHITE FLAG : SURRENDER
(3) LAURELS : VICTORY | (4) WAR : LIBERTY

ﬁ%@ﬁ%mﬁms&ﬁgﬁm

PIGEON : PEACE :

(1) CROWN : HEAD (2) WHITE FLAG : SURRENDER
(3) LAURELS : VICTORY ' (4) WAR: LIBERTY

65. Select the option that is related to the third letter-cluster in the same - way
" as the second letter-cluster is related to the ﬁrst letter-cluster.

PLMO.: PNMQ : : UDMS : ?
| (1) RNEZ (@ TQFY

(3) TNCA (4 TNEV

wﬁwmwaﬁﬁm @rmw—ﬂa\%@sﬁwaﬁﬁﬁ%?ﬁ
WWW@W—W@W%I

 PLMO:PNMQ::UDMS :
(1) RNEZ (2) TQFY
(3) TNCA o (4) TNEV -

66. Which one of the given' answers would be a meaningful sequence of the
following words ?

(A) Mega
(B) Kilo
(C) Tera
(D) Giga

() B,D,C,A 2) A, B,C,D

3) A, C,B,D 4y B,A,D,C

o 20 | ~ P.T.O.
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67.

68.

ﬁwwﬁﬁ%aﬁwwmmﬁgﬁwm?
(A) FT

- (B) fel

(C) 2T

(D) frm . e

(1) B,D,C, A | - (2) A/B,C,D
(3) A,G;B,D '(4) B,A, D, C

A man from point A walks 20 m to the. north, then turns left and walks
40 m ‘again turns left and walks 20 m. At last he turns right and walks 20 m
to reach at point B. Find distance and direction from point Ato B. 7

(1) 20 m./West |  (2) .40 m./East

(3) 60 m./West . (4) 60 m./East |

%A@@‘amioﬁawaﬁmm% b s1df Hgear & ST 40 A
m%m%mw%aﬁzoﬁaw%laﬁﬁa@aﬁg@w%eﬁ?

20%%%%§Bwq§aﬂ%lﬁgA@rBa¢aﬁ§& 3R fRem s
I |

(1) 20 frez/afvem . O (2) 40 Hrew/gd
(3) 60 Hrex/afy=y . (@) 60 Hewgd

Whlch one of the given answers would be a meamngful sequencc of the
following words ?

(A) Plant
(B) Fruit
(C)I Seed
(D) Leaf
(E) Flower

(1) A,C,D,E,B
2) C,B,D,E, A
3) C,A,D,E,B

(4) EavD’ Cs B, A

BLBHJ-EE-June, 2023/(SET-X)/(C)
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Prefafag s<) & Ru Q0 ol § | He-a1 SEigel ST 8 ?
(A) Qe

(B) &t

(C) &=

(D) =it

(E) & , |

(1) A,C,D,E,B | (2) C,B,D,E, A

(3) C,A,D,E. B (4) E.D,C,B, A

69. Manjeet and Pawan start together from a certain point in the opposite

direction on motorcycles, The speced of Manjeet is 60 km per hour and
of Pawan 1s 44 km per hour. What will be the distance bctween them

after 15 minutes ?
(1) 20 km = 7 (@) 24km
(3)26km (@) 30km" |
Hofiq olx gae HeEstha § wh FvEd [§g ey faoda Rem #

, q I |
aa?ﬂsgazh—{?r%,ﬁﬁﬁa_aﬁ'nﬁréoﬁﬁfqﬁrw%sﬁ?qﬁ-ﬁnﬁrMﬁsﬁ’
gfy geT B dxE HEe & a6 Sae g R gl e BT

(1) 20 Rt (@ 4R

@) 26% . @ 30fen
70. Complete the series : |

1024, ------ , 1600, 2000, 2500, 3125

(1) 1350 | O (2) 1440

(3). 1125 . ¢ wen o (4) 1280

gl @1 o1 BT

1024, —ennmr, 1600, 2000, 2500, 3125

(1) 1350 (2) 1440

(3) 1125 ‘ (4) 1280

BLBHJ-EE-June, 2023/(SET-X)/(C) P.T.O.
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71.

73.

74.

c
3 4 9
2 5 2
6 7 ?
36 140 18
(19 o - (2) 27
(3) 12 : 4) 1
(1) 58 _ (2) 60
(3) 62 i (4) 64

If a cube is made by mixing 64 small cubeé,- then two faces of how many
small cubes will appear ? : » -

(1) 12 (2) 24

3) 32 e i (4) 42 | o
‘qﬁ64®%a=ﬁa%ﬁamwﬁ T 9T ST, ﬁrﬁo—aﬁ@%ﬁ%aw
fRearg 3 7 oy

(1) 12 2) 24

(3) 32 | (4) 42

Looking in the mirror it seems that the clock is showing 6 : 30. What is the

" actual time of the clock ?

(1) 06 : 30 ) 05 : 30
(3) 06:00 . . (4) 05 : 00

BLBHJ-EE-June, 2023/(SET-X)/(C)
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sﬁé’rﬁr%@%wm%ﬁﬁa@rﬁ6.3()%7%@1&35}%12:1'&1&@%%

-
8; 82 30 (2) 05:30
: 0A0 _ (4) 05 : 00

75. If 'in the year ?016 the Republic Day was celebrated on Friday, then in the
year 2020, on which day the Republic Day was celebrated ?
(D M.onday ‘ (2) Wednesday
(3) Friday (4) Sunday
afr ad 2016 ® o= &g a '

Waﬁrwmw Qg 2020 F T

feae frd R AT T ? |
(1) gFar () ZER
(3) IHATX (4) feEm

76. Alok is 300 days older than Varun and Sandeep is 50 wecks older than
Alok. If Sandeep was born on- Tuecsday, then on Wthh day “was Varun

born ?

(1) Sunday (2) Monday
(4) Wednesday

o1 2 ol d TER S0 HwE FS1 ¥ AR WG W
??rawasramﬁﬁaﬁwgaﬂm?

(2) EHAX
(4) goart

(3) Tuesday

e aseT & 300 R
= HI@ER B g A,

NOREEIN
(3) HITAATL

wAll the members of the Tennis club arc 'm
t00." No woman plays Badminton".

77. embers of the Badminton club

(1) Some women play Tennis

(2) No membcr of the Tennis club plays Badmmton

(3) Some women are members of the lcnms club
(4) No women is a member of the Tennis club
e Ry P.T.O.
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'%ﬁam%aﬁm%ﬁ{ww%msﬂaﬁ%w'aﬁém
é‘eﬂﬁﬂﬁ@a‘cﬁ%"l

(1)@%,%@@%, _ |
(2)%%14@@@%14@%3%#7%%
(3) HB Afwn, = FTd B T ¥
(-4)@3‘%%#1%@%%%@3%’3@3&%

78.

Count the number_ of tfiangles X
ms @9
(3) 10 S @) 11

M8 it d (49
(3) 10 it @)1
BLBHJ-EE-June, 2023/(SET-X)/(C) =
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79.

Count the number of Straight Lines :
(1) 9 . | @) 11
3) 13 - % 4) 16

(1) 9 @) 11
3) 13 @6

80. Question Figure :

VAV

. nM

E -

N
Answer Figures :.
W @) e 4)

Which one is mirror image ?_ Lo .
(1) 4 P ) 1
3) 2 _ @3

BLBHJ-EE-June, 2023/(SET-X)/(C)
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81.

82.

83.

84.

85.

BLBHJ-EE-June, 2023/(SET-X)/(CV) -
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86.

87.

88.
89.
- 90.

91.

92.
93.

94.

BLBHJ-EE-June, 2023/(SET- X)(C)

T AT Bifeq :

(1) ST @ s
(3) ST | @) s
T’ I QAT © ‘

(1) 99 | ‘ (2‘) e |
(3), S (4) TwET

DT g H qEEarE @ v 7

(1) =T . (2) 91T

(3) J/T g @) ‘I’T

‘e’ & Fel e = H T Hfeg
= ¢ | @

3) T | L) @

= § faaw @ gfte § Toa g= THE

(1) FEE-TFHT (2) E-F
(3) STRE-STSA (@) wRu-ReE
o7 @ P ortEE A8 Y ? |

(1) ®9% () SomET

(3) ST @) SfersraferRT
axfer sr=x & @et I @ =A HIeTT -

(1) & 2) T

(3) A (4) H&T |a
‘aTe IareAr gerET aa?awafr e

(1) %% ST (2) fearen fHepeTT
(3) aarsﬁ T - (4) P R
‘f?aznt?ﬂT ¥ PrA-a1 GEd % ?
(1) HHETR (2) dgAfE

3) a’cg!?q (4) &&a

Scanned with CamScanner
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'95.

96.

97.

98.

99.

100.

e’ & HF-ar ™ 8§ 7

(1) &= | (2) FHHIH

(3) g (4) aghfE
‘Fega’ o Giufresy Hifvg

(1) =B + & 2) Iq + @

3) SR + W\E (4) a7} + ™
‘TR & Bl Saer’ 59 aaie & R gar mmawaﬁﬁm
(1) Rgeneiy (2) dsra™ :

(3) AP Hufx ' (4) Rerer
‘mwﬁmmmaﬁa’mﬁaﬁsﬁzwﬁmwr

(1) T e & (2) ST

- (3) g | (4)1%:1%13
ﬁmaﬁaﬁ*&ﬁa@w%%ﬁm Wmmmaﬁr?'
(1) ger RS ‘(2)a'trﬁ

(3) 3BT iAol (,4)%_
Fe-TH § A T, AT S’ ¥ et ST B wE i
(1) SuAT : - (2) ST

(3) 75 | () st

'BLBHJ-EE-June, 2023/(SET-X)/(C)
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(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO
) SET-X

D BLBHJ-EE-June, 2023
LL. B. (Hons.) Five Year Integrated 10924

SP. NO. covieerearemeserreeemeeeeseenees
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name Date of Birth ‘
Father's Name Mother's Name
Date of Examination '
(Signature of the Candidate) - . -. (Signature of the |nvigilator) : };: .

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER. _:_

1. All questions are compulsory. : »1-"_:

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated. _

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
considered. \ )

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,

" may be done in the question booklet itself, Answers must not be ticked in the question booklet.

6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated

as incorrect answer.
7. Use only Black or Blue Ball Polnt Pen of good quality in the OMR Answer Sheet.

8. Before answering the questions, the candidates should ensure that they have been supplied correct
and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained. 30
minutes after starting of the examination.
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If in a certain language, MADRAS is coded as NBESBT, how is

1.
BOMBAY coded in that code ?
(1) CPNCBX | - (2) CPNCBZ
(3) CPOCBZ | ‘ (4) CQOCBZ.
uﬁﬁmﬁﬁfﬁﬁwﬁ MADRASa?rNBESBT%@qﬁmﬁmeo,
o ST 9T § BOMBAY &l 39 feaws Rhar s ?
(D CPNCBX = (2) CPNCBZ
(3) CPOCBZ - (4) CQOCBZ

2. Four usual dice are thrown on the ground. The total of numbers on the top faces of
these four dice is 13 as the top faces showed 4, 3, |1 and 5
respectively. What is the total of the faces touching the ground ?
(1) 12 ' ' : (2) 13
(3) 15 | 3 i (4) Cannot be determined
meﬁaﬁqwﬁaﬁglsﬁwwws#mmzﬁr
welh 13 B Hifh i ot shAST: 4, 3, 1 9IRS gurid 1 ST @ g3 9
Boiehl Sl ol AT Tl & 7 :
(1) 12 | (2) 13
(3) 15 ' . (4) foreifRa ?{éT fav-m ST FRT

3. Seélect the related number from the given alternatives.
7:32::35:2 . 5 e
(1) 146 , (2) 156
(3) 160 : . 4) 172
ferpeat & @ defo der & =ae HY )
7:32::35:7
(1) 146 = (2) 156
(3) 160 ‘ (4) 172

BLBHJ-EE-June, 2023/(SET-X)/(D) ' | i, P.T. O.
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4. Select the related word " from the given alternatives,

PIGEON : PEACE: : ?

(1) CROWN :HEAD (2) WHITE FLAG : SURRENDER

(3) LAURELS : VICTORY
foredl § ¥ wafeg = F g |

PIGEON : PEACE : : 2
(1) CROWN : HEAD
(3) LAURELS' : VICTORY

(4) WAR : LIBERTY

(2) WHITE FLAG : SURRENDER
(4) WAR : LIBERTY -

Select the option that is related to the third letter-
as the second letter-cluster is related to the first letter-

PLMO : PNMQ: : UDMS 2 ?
(1) RNEZ

cluster in the same way
cluster.

(2) TQFY-
(3) TNCA © (4) TNEV

wﬁwmwm,ﬁeﬁzﬁw—wéaﬁwm%%
T FTEET-HE e Fiee-wE § deifer 2|

PLMO :PNMQ :: UDMS: 2
(1) RNEZ , : (2) TQFY
(3) TNCA ol (4) TNEV
Which one of -the given answefs would- be a
following words ?
(A) Mega
(B) Kilo
(C) Tera
(D) Giga

meaningful sequ.encc of the

(1) B,D,C, A (2) A,B,C,D

3) A, C,B,D (4) B,A,D, C

BLBHJ-EE-June, 2023/(SET-X)/(D)
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ﬁf‘ﬁﬁﬁﬁﬁﬁ?@%ﬂ?ﬂﬁ@:ﬂwﬁn?
(A) &7

(B) fopamt

(©)=a -

(D) 3Trm . R

() B,D,C, A "~ (2) A,B,C,D
(3) A,C,B,D | | (4) B,A, D, C

A man from point A walks 20 m to the ndrth“then turns left and walks
40 m again tumns left and walks 20 m. At last he turns right and walks 20 m
to reach at point B. Find distance and direction from point AtoB. ?7-

(1) 20 m./West (2) 40 m./East

(3) 60 m./West . (4) 60 m./East

Rig A & U SNl 20 Hiex I¥T A SR ST B, Rer A gEaT ¥ ofR 40 W
el & Y 8 9 Joan & oY 20 Hied I@em ¥ 1 ofd H d8 I HIdl © SR
20%%%%@BWQ@W%I%§A%BWE€T§&&%%&W%

. ST | |
(1) 20 Hrex/afysg | (2) 40 Hrevgd
(3) 60 Hrey/aies | : 4) 60-T-ﬁET/t§T .

Which one of the given answers would be a meanmgful sequence of the
following words ? ' ' '

(A) Pl_ant
(B) Fruit

(C) Seed

. (D) Leaf

(E) Flower

() A,C,D,L, B (2) C,B,D,E, A

3) C,A,D,E,B ' 4) E, D, C, B, A

BLBHJ-EE-June, 2023/(SET-X)/(D) s | P.T.O.
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Frfafea =l @1 R T SRt & & - orefqel amgeed anm ?
e e
(B) &t

(C) drst

(D) a=h

(E) B '

(1) A,C,D,E,B 3 (2) C,B,D,E, A

(3) C,A,D,E, B ’ |  (4)E,D,C,B,A

9. Manjeet and : Pawan start together from a certain point in- the opposite
direction on motorcycles, The speed of Manjeet is 60 km per hour and
of Pawan is 44 km per hour. What will be the distance between them.
after 15 minutes ? ‘

(1) 20km (2) 24 km

~ (3) 26km | ) 30km
qﬁﬁﬁ@ﬁ?ﬂﬂ?ﬁﬂgﬁ%ﬁ@ﬁ@ﬁﬁ“%@ﬁ@ ,
AT FE FIA T, Ao B T 60 B ufy der ¥ o wew @ Ry 44 e
AT der 71 dwe e & 96 SS9 e g 86 7 '
(1) 20 et I (@) 24 B
3) 267 @ 30feh

10. Complete the series : - |

{1y R— , 1600, 2000, 2500, 3125 |
(1) 1350 () 1440

(3) 1125 (8 1280
A # gt iR

1y A— , 1600, 2000, 2500, 3125

(1) 1350 : (@) 1440
3) 1125 | | (4) 1280

- BLBHJ-EE-June, 2023/(SET-X)/(D)
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11.

13.

3 4 9

2 5 2

6 | 7 9

36 140 18 |

(y19. . T T e 2) 27
(3) 12 . 41
(1)58 | | : (2)60'_0
3) 62 - @) 64

If a cube is made by mixing 64 small- cubes, then two faces of how many
small cubes will appear ? '

R P
(3) 32 ‘ “) 42

aﬁ64€$|%a=ﬁa$rﬁarﬂqaﬁ 9 g9 9], ﬁr%ﬁtﬁ%aﬂ‘r%am
g a7 ,

(1) 12 - : (2) 24

(3) 32 N ) Y

-14. Looking in the mirror it seems that thc c]ock is showing -6 : 30. What is the
actual time of the clock ? ‘
(1) 06:30 (2) 05:30
- (3) 06:00 : (4) 05:00 ‘ :
BLBHJ- EE June, 2023/(SET- X)/(D) ' - | P O
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sﬂs?rﬁ%aﬁwaw%ﬁaqsﬁﬁm 30aa1%%|ae°rﬁamﬁmmqm
g7 |

(D 06:30 . : (2) 05:30

(3) 06:00 _ (4) 05:00

15. If in the year 2016 the Republic Day was celebraled on lrlddy, then in the
year 2020, on which day the Republic Day was celebrated ?

(1) Monday " (2) Wednesday

(3) Friday (4 Sunday |
ui%aézomfiwﬁamieagwﬁww e?raézozoﬁzaaam
a9 g ﬁ‘rr HA™T T Y

(1) |eEr - (2) e

(3) FIR ' . () e

16. Alok is 300 days older than Varun and Sandeep is: 50 weeks older than
Alok. If Sandeep was born on Tuesday, then on which day was Varun

born ?
(1) Sunday - ) Monday
(3) Tuesday | ; ’ (4) Wednesday

aq@asa*ﬁwﬁmoﬁ:raa%@rrﬂé‘rqw@wowaa%aﬁm‘mw
ST HIRTER S g3, awmwmﬁﬁgw,ml?

nREw “ (2) A
(3) AIER ’ . () gEER

17. "All the members of thel Tennis club are members of the Badminton club -
t0o." No woman plays Badminton".

(1) Some women play l(,nms
(2) No member ofthc Tennis club plays Badmmton
- (3) Some women are members ol"thc Tennis club

(@) No women is a member of the Tennis club

' BLBHJ-EE-June, 2023/(SET-X)/(D) -
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%ﬁﬂm%aﬁwﬁgﬁﬁm%mﬂﬁaﬁ%l"ﬁém
Jefties =2t Qo 8" |

(l)@w%arq,%ﬁv@a?ﬁ%

@ 2w T B e Ahter a8 A
(3)@8%,%@#@%

(4) Y <t afeen 2w B T T B

18.
.Count the number (;f triéngles :
(1) 8 | | @9
310 | ORI
Prgsit @ demn sma . #if ¢
s RS @ 9
3)10 @
BLBHJ-EE-June, 2023/(SET-X)/(D) ' ~ PBT.O.
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Count the number of Straight Lincs :

(1) 9
(3) 13 .

) 11
4) 16

(1) 9
(3) 13

20. Question Figure :

=

WA el B wenw A

(2) ‘1 ]
4) 16

Answer Figures : . : |
“ @ . 3) @
" Which one is mirror imggc? '
(1) 4 (2) 1
3).2 . 4) 3

BLBHJ-EE-June, 2023/(SET-X)/(D)
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o giafer He-a1 ¥ 7 L
(1) 4 | @1
32 | | (4) 3

21, On Wthh continent did an uprlght-walkmg ancestors of human being originate ?

(1) North America ' '(2) Australia
(3) Africa | (4) Asia
‘ﬁéaﬁaﬁw%ﬁvﬁaﬁwﬁr%ﬁmﬁgﬁaﬁ?
(1) S8 e@iadr . (2) ofiegfeET
(3) SR - R (4) lzf?ﬂm
22. What was the name of the Super Conlment of 200 m1111on years ago ?
(1) Pangloss ST e (2) Panama
©(3) Pangaea ' | ‘ 4) Pantarctica
zooﬁmﬁﬁ%%@umwmm?
(1) =i (2) 9T '
(3) ﬁ‘ﬁrnn . - (4) YemnieHT
'23. In which Indian Rellglon is "Karhaprashad' dlstrlbuted as part of worship service ?
- (1) Sikhism . (2): Buddhism
~ (3) Jainism (4) Hinduism
fopd Al o1 & gor Qa1 & ofF T B ©Y F ‘FHeEUER’ ﬁaﬁaﬁwmm%?
(1) frre o i (2) s e
(3) S et g (4) fo=g wH
BLBHJ-EE-June, 223/(SET-X)(D) -~ S P.T.O.
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24. The Moplah Rebellion (1921) took placc in :

(1) Telangana (2) Vidarbha
(3) Malabar (4) Rohilkhand:
Aqrae = (1921) F gam o ? '

() dsFrm (2) Forast
(3) AIE | | (4) Afews

25. The Thar Desert continues into Pakistan and called as ........... :
(1) Pak Desert '
@) Sahara Desert
(3) Gobi Desert
(4) Cholistan Desert
(1) I T wed g
(2) Tera WA wea &
(3) M W= Foa &
(4) et %ﬁnﬁm Ped ¥
26. Pollutants that are introduced into the environment by human activity are callcd as :
(1) Qualitative Pollutants
(2) Quantitative Pollutants
(3) Anthropogenic Pollutants

(4) All of these
qﬁiﬁqi%ﬁqmﬁfmqwqﬁméﬁaﬁn@aﬁﬁww%:

(1) o uges (2) HETHF THD
(3) AgSIT 9gueh : (4) IR g+

27. Brass is an alloy of : ,
(1) Nickel and Copper (2) Copper and Silver
(3) Nickel and Zinc - (4) Zinc and Copper
et FrsieTg ® » . |
(1) fepet AR aiam | (2) i SR A
(3) frepT R i - (4) R AT s

BLBHJ-EE-June, 2023/(SET-X)/(D)
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28. The most abundam mctal in the earth s crust is :

(1) Zinc ' ' (2) .Copper
(3) Aluminium (4) Iron
(1) i (2) e
3) @W @ e

29. Sangam therature is associated respectively w1th

(1) Sanskrit and Tamil Nadu

(2) Pali and Bihar
- (3) Tamil and Tamil Nadu

(4) Prakrit and Gujarat -

@ e whe Tty o

(1) &6, AR dfaeeTg

(2) uifer ofix e

(3) e R aferg

(4) T AT T

30. Ancient Rulmg Dynasties Pandyas and Pallavas were associated wnh
(1) Eastern Coast of India
(2) Western Coast of India
(3) North-West India
(4) North-East India

Wahwau@?smwsﬁﬁaé&
() IRE B qe (2) 9RT & wRE ae
(3) w—q‘r?earﬁ AR : (4) STR-GEI 9ARA

31. William Jones and Mortimer Wheceler are associated respectively with :
( l) Survey of India and Archacological Survey of India
(2) Asiatic Society and Archaeological Survey of India
(3) Archacological Survey of India and Asiatic Society
(4) Asiatic Society and Deccan College o
. BLBHJ-EE-June, 2023/(SET-X)/(D) i ‘ - P.T. O.
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faftrr s o AR adiere smwar: arafeer ¥ -
(1) 9 Fdeor R ey qarrce adeor @
(2) cRmEfts e ofix *m-cﬂzr QR wdeor 9
(3) TR YU e SR wfyrnfes Qs
(4) frrfes AAEd ofR e B A

32. The term antibiotic was coined by :

(1) Edward Jenner . (2) Alexander Fleming
(3) Selman Waksman (4) C.V. Raman |
e = e & T W ?
(1) Tsad =7 (2) TarsigT TRIfET
(3) BT iy (4) Hio dio =
33.  Who coined the term biotechnology :
(1) Karl Erkey - (2) Kornberg
(3) Woodruff .' ' (4) Arber
afqﬁ%aaﬁr:—ﬁ = s BT TIET T ?
(1) el 3T _ | - (2) Fitert
(3) g=® (4) e
-34. Milk tastes sour when kept in the open for sometime due to formation of :
(1) Carbonic Acid (2) Lactic Acid |
(3) Malic-Acid (4) Citric Acid
T H FE T F W gA T WA W I @R @eer & oer 2, sqe
HRT B | | |
(1) HEHE oTd = (2) diferes ayw
(3) Afces vt [OREIFS S

BLBHJ-EE-June, 2023/(SET-X)/(D)
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35. A common florescent tube contains :

(1) Sodium Vapour _ 5 ity (2) Mercuric Oxide and Neon
(3) Argon at low pressure ' (4) Mercury Vapour and Inert gas
Th A wiRde gd & E?mT % | ,
(1) AfEgw amy (2) ARERE SfFdEs oK A
(Qﬁwmwwﬁ? (4) IR arg SR sy T
- 36. | In which state the maximum number- af seats reserved for scheduled tribe l'orl
Lok Sabha ? ‘ , T
(1) Chhattisgarh ' * (2) Jharkhand
(3) Madhya Pradesh ' 4 Maharashtra
ﬁmmﬁaﬁwm%ma@ﬁﬁmﬁ%mmaﬁwwaﬁﬁ
g P e
(1) exiraTe | I (2) FREs
(3) AR | (4) HWERTE -
37. Intematidna] Day for Biological Diversity is observed on :*
(1) 22nd April - (2) -23rd May
 (3) 24 July | | " (4) 22nd May
ST S e R?m HEET S B
(1) 22 AT @ K _ (2) 23 98
3) 24@31%# o (4) 22 72 @
' 38. In Wthh national park the Cheetahs broughl from South Afrlca -and Namibia arc
housed in : _ v
(1) Kanha National Park ~ (2) Kuno Natior_lal,Park
(3) Kaziranga National Park .~ (4) Ranthambhore National Park .
Wmmaﬁm@mwﬁﬁmwﬁamﬁww
e ?
'(l)mvgﬁaam:r | (2)@1‘@?{3@11?
(3) RN I IEE (4) TR I SEe
BLBHJ-EE-June, 2023/(SET-X)/(D) | ' . P.T.O.
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39. Indié is classified recently by World Bank as :

(1) Lower Income Economy (2) High Income Economy
(3) Middle Income Economy (4) Lower-Middle Income Economy
T @ e & F Riva ¥ g gt Rear wr |
(1) Pt omg oRfegaeen - (2) S=9 ot ordlemEeRn
(3) HeT T referae (4) Pr-wen arrg STefeERE
40. Which is the largest fish producing state in India ?
(1) Kerala - (2) Tamil Nadu
(3) Karnataka (4) West Bengal
YT Bl T ST AS IWEH T BT D 7
(1) & (2) afaerTg
(3) Ftes o (4) e e
41. X T B ug D c |
(1) frem L @@
(3) S’ | (4) U
42, URME’ & @ w1 g9 Himg |
(1) =g , 2) TR auf
(3) fEmEd B | . (4) gPEeET O
43. ‘geIr’ ¥ gge oue ¥ |
()« " @

©F:icH. R

44. ‘Fraife § vy g B

() , ' OB
(3) T s NGRS
45. g& = Bifew - - _
(1) eAfserp | () P

(3) ems (4) P

BLBHJ-EE-June, 2023/(SET-X)/(D)
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46. STgE W= BiRkg
(1) SR : (2) st
- 3) SR = (4), 3R
47. ‘T B qgRaETh g _ |
(1) 55 (2) gamar
(3) == (4) TusYyY
48.@?@%@3@%‘7%?
(1) sfor g (2) 9T9T<R
(3) RT . @ T
49, ‘o % we B g A AR
(1) ¥ _ (2 si?r
RCR v | @) T
- 50. S & RBEm o gfe § qom o= g R -
(1) Fm-wga C L (2) SAu-geY
3) SRE-se S (4) wfFg-foze
51. 38 § B9 oiER -‘7'6‘7‘% ?
(1) &9, A (2) @
(3) srgury A (4) SAfsERR
52. WV I & @ET I FHr T BN
(D) g=r | S Q) =
(3) =t : | (4) =T |
53. ‘e sEEr e @ gel ofef &an ¢
(1) |BIg HTAT | - (2) Rarn e
(3) el o (@) e R
54. ‘f3mEmder & @@ §Hg B ? | : .
(1) FHYRY (2) ggdife
(3) Tgsw (4) &5
BLBHJ-EE-June, 2023/(SET-X)/(D) P.T.O.
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55.

56.

57.

. 58.

59,

- 60.

‘W’ﬁaﬁv{—wm%?

(1) =& (2) FHHLITEA

(3) TgET ' (4) TgAIe
mwmﬁrﬁ?aﬁm:

(1) I=5 + a™ | (2) Ig + @™

(3) 5% + W - @) o+ T
mwffﬁwﬁw WWQT%%QH@?S@WW#WQ:
(1) fogemshy | (2) @™

(3) A Hafy (9 Re
*mwﬁﬁumwaﬁé’.@gﬂasmmwa%ﬁm:

(1) GRIT | | (2) TR

(3) oo™ L b - (4) TafSE

e ere &t Sl aTR # e A e o JEnT ST g
) ger ) =t

(3) S1gT o | '(4)°W

W—W%ﬁrg‘vﬁ qﬁwa@mﬁwﬁwwaﬂqm
(e T - (2) S|

3) 77 (@) e

Questions 61 to 70 : In the following questions mark the paft with the error.

61.

62.

(1) These kind of apparel -
(2) seems to be expensive

(3) but is relatively

(4) affordable to maintain

(1) Neither Ajay

(2) nor his brother

- (3) cantype faster
'(4) than me.

BLBHJ-EE-June, 2023I(SET X)/(D)
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63.

64.

65.

66.

67.

68.

69.

(1) Being a sunny day
(2) we went out

(3) for picnic

(4) in the park.

(1) The English
(2) defeated French
(3) in the

- (4) battle of Waterloo

(1) An old man in the crowd

- (2) warned Julius Caesar _
" (3) about the danger of death

(4) on certain day.

(1) It is not my business

(2) to give an advice to those

(3) who are not‘sensible enough,
(4) to deal with their own problems.

(1) The General and his Wife

(2) were invited

(3) for the children's day celebration

(4) at our school

(1) No sooner did the
(2) bellrung

(3) the boys came
4) out of the class

(1) How long
(2) is she

3) working in
(4) the office.

| BLBHJ-EE-June, 2023/(SET-X)/(D)
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70. (1) Ajay told me
(2) that he wrote a letter
3) to his boss

(4) for a certain reason

Questions 71 to 75 : In the following questions four words/options are given, out of which
these choose the incorrectly spelt word.

’

71. (1) Hallucination
(2) Bombardment
(3) Randevous

(4) Emeritus

72. (1) Gratification .
(2) Defection
~(3) Vaccuum

(4) Accessory

73. (1) Aparthied

(2) Diaspora

- (3) Subaltern
(4) Transparent

74. (1) Trepidation
(2) Tresspassing
(3) Absurd
(4) Philanthropic

75. (1) Ominous
(2) Acrimonious
(3) Curative °
(4) Bizaire

BLBHJ-EE-June, 2023/(SET-X)/(D)
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76.

78.

79.

80.

one who devotes himself to pleasure,
(1) canonist

(2) lustful

(3) hedonist

(4) pleasurable

a short stay at va place.
(l)A sojourn

(2) transit °

(3) holiday

(4) sortie

A place where weapons and ammunition are stored,

(1) weaponary
(2) arsenal
(3) bunker
(43 vorticism

known only by a few.
(1) elliptic
(2) eclectic
(3) ecstatic

(4) esoteric

one who copies from other writers.
(1) plagiarist

(2) copyiét

(3) limerick

(4) ascot

BLBHJ-EE-June, 2023/(SET-X)/(D)
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~ Questions 76 to 80 : Choose the one word substitute for cach description.
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81.

82.

(3) IAT &

In India seats for women are reserved in ;
(1) Lok Sabha
(3) Cabinets

(2) State Legislative Councils ‘
(4) Panchayati Raj Bodies

TR 7 ARl d R @ s ¥
(1) W6 w1 & . (2) o9 g oRwst §
| (@) dEmt ot P

Consider the following statements on the meaning of communal pollllCS
Communal politics is based on the belicf that :

(A) One religion is superior to that of others

(B) People belonging to different religions can live together happily ‘as :qual citizens

(C) Followers of a particular religion constitute one community

(D) State power cannot be used to cstabllsh the domination of one rellglous groups
over a other :

Which'statement is/are correct 2 . I

(1) A,B,C,D " (2 AB&D

(3) A&C | (4) B&D
Wﬂﬁﬁﬁr%aﬁ%aﬁﬁﬁﬁ%ﬁaﬁmwﬁawﬁl»
ARSI 39 fRAsar 9% eeRe © Ry

(A)TH & T @ I B .
(B)ﬁ%qﬁ%aﬁwwwﬁﬁ%mﬁg&ﬁﬁwwwaﬁ%ﬂ
(C) T 999 g9 & sTgarl o Tger™ & Tow oy I

(D)@mmwwwqwmﬁm%mwﬁgﬁw
SYANT T8 Ry ST @ehar B

DA HAT e B P

(I) A,B,C,D ,' . (2) A, BT=rD

(3) AT C ' (4) BED

- BLBHJ-EE-June, 2023/(SET-X)/(D)

Scanned with CamScanner

it b el i et



21

83. Which among the following statement about Indian Constitution is wreng ?

(1) Prohibits discrimination on ground of religion’

(2) Gives official status to one religion

(3) Provides to all individuals freedom to profess any réligion

(4) Ensure equality of citizens within religious communities

ﬁﬂ?ﬁqaﬁrm%aﬁﬁﬁwﬁﬁqﬁﬁﬁﬂqmwm g7

(1)®%anmqtﬁawawﬂzﬁaw%n
V(Z)Qmﬂﬁa?rmwﬁzﬁfm‘am%l

(3)Hﬁwﬁaﬁraﬁﬁsﬁsﬂaﬁaﬁqﬁﬁaﬁwmm%l
(4)%@&7%%%3%%@%%%%1

84. Which of these is not a good argument ini favour of democracy ?

(D Peo'ple feel free and equal in ‘d.emocracy.

(2) Democracies resolve conflict in a better way than others.

*

(3) Democratic government is more accountable to the people.

)

(4) Democracies are more prosperous than others.-

Fﬁ%ﬁa%qaﬁsﬂﬁﬁzﬁﬁwﬁmvﬁ g7

(I)Gﬁwﬁaﬁaﬁwaﬁ'{wwm%

(2)quﬁaﬁgamﬁméaﬁréwaﬁa%ﬁwﬁ%l
(3)mwmammmaﬁ%u

(4) Snci gadt @ gereT & e wge ¥

{

BLBHJ-EE-June, 2023/(SET-X)/(D)
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85. Which of these provision that a democratic constitution does not have ? ;
(1) Powers of the head of the statc (
(2) Name of the head of the state {
(3) Powers of the legislature
(4) Name of the country
T R BT AN OF et e § g8 B 2
() T B ugm & g |
(2) T B g # A
(3) faenfrer = ity
(4) 31 H1 9
86. Whlch of these 1S not a good reason to say that Indian Electlons are democratic ?
(1) India has the largest number of voters in the world
(2) India's election commission js very powerful
(3) In India, everyone above the age of 18 has a right to vote
4) In Indla the loosing parties accept the electoral verdict.
?ﬁaﬁq—m%mﬁwwmmaﬁ%%wﬂeﬁuwm
5

(1)Wﬁgﬁm%wﬁm‘ﬁ$qﬁw%l

87.

If you are elected as a President of Indla which of the followmg decision can you take
on your own :
. ( 1) Select the person you llke as Prime Mlmster T

(2) Dismiss a Prlme Minister who has majority in Lok Sabha
(3) Ask for reconsideration of a bill passed by both the Houses.

(4) Nominate the leaders of your choice to the council of Ministers.

BLBHJ-EE-June, 2023/(SET-X)/(D)
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88.

el S oy Y

- (3) I EES BN oiRa Rdge w EiER & R

. 23
qﬁmw%mﬁf%wﬁgﬁwﬁ% g frfefEd | -a

(1)waﬁﬁaﬁrﬁwaﬁiﬁﬁwnm%mﬁmaﬂ%%l
(2) ST F SgHa @Y G qeEE @y aErE B

(4) o199 wEE & Jarelt @ WRuRve § amitea H |

Who among the followmg 1s a part of the polmcal executive ?
(1) District Collector

(2) Secretary of the Ministry of Home Affairs
(3) Home Minister |

(4) Director General of Police |

ﬁqﬁmﬁﬁaﬁqmﬁmmﬁwaﬁrm%?
(1) T s .

Q) TE e @ aRE

(3) T

. (4) gfera HeTf+eers -

Which of the following statement about the Judiciary is false ?

(1) Every law passed by the Parliament needs approval of the Supreme Court

(2) Judiciary can strike down a law if it goes against the spirit of the Constitution

(3) Judiciary is‘indeper{den't of the Executive .

- (4) Any citizen can approach the Courts if rights are violated

T 3 AR Frefred ¥ @ B s o 3 7
(1)W§mqﬁﬁqﬁa€wﬁaﬁw%mﬁﬁaﬁmaﬂw
e B

(Z)Wﬁﬁeﬁwﬁﬁmm%qﬁa@mmﬁw%‘
fares ST 2 | | ‘

(3) ~ATITIIAHT, aﬂﬁmﬁrﬁm?{w%l
(4) AT 1 Jectae B U g off ARG ST ST FHew B

BLBHJ-EE-June, 2023/(SET-X)/(D) | P.T.O.
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90. Which of the following institutions can make changes to .an existing law of the

country  ? 4
(1) The Supreme Court ' . (2) The President

' (3) The Prime Minister ' (4) The Parliament
Wﬁaﬁﬁﬁwxﬁm%m%%wﬁwm?m% ?
) gim #e (2) T
(3) guHAT : (4) do=

91.. Which of the following rxghts is avallable under the Indian Constllutlon ?
(1) Right to work
(2) Right to adequate livelihood
(3) Right to protect one's culture
(4) Right of brotherhood

Wﬁﬁ%mwwmm%mmw%? o
(1) ®&H FE & ofHR |
(2) watar STShfwr #1 st

(DMH@%#WWE{HG@W

(4) WEARY &1 AfREHRT

92, Which of the followjng freedom is not available to an Indién citizen ?
(1) Freedom to criticize the geverhment
(2) Freedom to pafticipate in armed re(xol_ution
| (3) Freedem to start a movement:'to change a government :
(4) Freedom to oppose the central values of the constitution

Wﬁaﬁwﬁwwwmﬁmﬁaﬁ ®7?
(1) R @ AT A Easdar :
(2) AR Hifer T AR A Sl S
(3)mmam%%mmﬁaq§amaﬁwm

(4) TR B B gt B AL B A

BLBHJ-EE-June, 2023/(SET-X)/(D)
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93. The important fe

. oa.

»(@Wﬁﬁﬁlﬁﬂw%ﬁﬁﬁrwﬁ%aﬁa%ﬁﬁﬁ%i

25

ature of a federal government is :

(1) National government gives some powers to the provincial governments.
(2) Power is distributed among the legislature, executive and judiciary.

(3) Elected officials exercise supreme power in the government.

(4) Government power is divided between different levels of the government.

T WX A Hewayet R |
(1) TS TR i st @ g o 3 ¥ . |
(2) sTiet e, srimfme ofk =T & S PR @ ST 2

(3) Traifer e e § waten T 1 SAT HQ ¥ e
Consider the following statements :

(A) In a federation the powers of the federal and provincial governments are clearly
demarcated. :

'(B) India is a federation because of the powers of the Union and states governments are

specified in the constitution and they have exclusive jurisdiction on their respective

subjects. :

(C) Sri Lanka is the federation because the country is divided into provinces.

(D) India is no longer a federation because some powers of the states have becen
devolved to the local governmient bodies. '

Which statement given above are correct ?

(1) AAB&C - (2 A,C&D

(3) A&B | ' (4) B&C
Fr=faRaa weEf ) feEr #ifse - '

(A) wh "a & weig o uida aepit 1 afkEt @ we wg @ diies R

ST B | . «

(B) Re IFrEA Tl & FROT uh €Y ¥ AR o0 AR B G §
Ffdse fopar mam & ol S o o1 EEfT Rvdt ox B9 et A
2| | - _

'(C)%ﬁﬁmrﬁa%az?ﬁa%wmﬁrﬁﬁmﬁﬁ |

B BEIART HT A T E
Wﬁqmiﬁﬁ-ﬁm ?78'72%?

(1) A,Ba=nC (2) A,CTarD
() ATB. (4) Baarc s _
BLBHJ-EE-June, 2023/(SET-X)/(D) _ \ | - P.T. O.
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95. In dealing with social dwxsxons which one of the following statements is rof corrccl
about democracy ?

(1) Due to political competition in a dcmocracy social d1v1510n get reflected in
politics.

(2) In a democracy it is possible for communities to voice their grlcvanccs in a
peaceful manner.

(3) Democracy is the best way to accommodate social diversity.

(4) Democracy always leads to disintegration of -society on the basis of socml
divisions.

Hmﬁmﬁwmﬁ@ﬁqﬁﬁm%aﬁﬁﬁw%@aﬁéﬁmmasw
qEl 78T B 7

(Dgﬁ;ﬁ;ﬁ?ﬁﬁﬁmnﬁwﬁﬁwmﬁﬁﬁwwﬁ%ﬁﬁ%ﬁaﬁ
|

maﬁwq;agmﬁ%magw%%amrmammma
Adq |

(3)@%%%%@@@%@@@@3@.%%1

(4)aﬁaﬁggﬁwwﬁ$ﬁwﬁ%aﬂmw»waﬁwaﬁaﬂ1%
ST 2

96. What is the guiding philosophy of the Bhartiya Janta Party ?

(€Y Bahujén Samaj |
(2) Revolutionary Democracy
(3) | Integral Humanism |
4) Modemity‘ |
ARG AT 91él &1 Arfasien &9 #r & 7

(1) T |
(2) il e
3) .qzsrffl HgaTS

(4) SAgfTRT

BLBHJ-EE-June, 2023/(SET-X)/(D)
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97. Consider the following statements on partics :

(C) Parties are not necessary to run the governments.
; “Which statement given above are correct ?

| (1) AB&C 2) A&B
B)B&C ‘ 4) A&C
afE & ar § Pt FeA w RER S

27

(A) Political Partics do not enjoy much trust among the people.

(B) Partics are ofien rocked by scandals involving top party leaders.

(A) TSFIRIS o At & iy ol fsarg @1 o =8 a ¥
(B) 9rét & sfrf Farelt § g2 N @ WA owRR Rert B 1
(C)WW%W@W@WW&W:@%I

W%E{’TQEP?H@{W gel 27
(1) A,Ba=iC - (2) AT B
(3) Ba=rnC | (4) AgarC

98. In the context of assessing democracy which among the followmg 1s odd one out.

Democracies need to ensure :

(1) Free and fair elections (2) Dignity of the individual
(3) Majority rule _ 4) Equai treatment before law

b= & 3Thad & dad # Frfeiag & § Hi9-91 g & 7

S B GRATRET B B e R
(1)@3@?%&13@?{

(2) &R & R

(3) IgHd & ATEA

(4) T & GHE A HAER

(1) Democracy and development go together
(2) Inequalities exist in democracies
(3) Inequalities do not exist under dictatorship

~(4) Dictatorship is better than democracy

BLBHJ-EE-June, 2023/(SET-X)/(D)

99. Studies on political and social inequalities in democracy show that :°

P. T.O.
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RICTNEL ﬁnﬁmeﬁvqmﬁm,aweﬁqtawawwg%:
(1) Sds oIR R A ged §
(2) Swas & A Ao B
(3) AIITEN B Ted MY A Tel &
(4) TIFLTE AhAH H AeAX B ’

100. In the context of democracies, Which of the following idea is correct s
Democracies have successfully eliminated
(1) Conflicts among people )
(2) Economic inequalities among people
(3) Difference of opinion about how marginalised sectmns are to be treated
(4) The idea of political inequality | :
i & 4 a3 g 7 PHw-ar e g8 8 ?
MR ¥ FHSAIYES T HT e %
(1) <t & &g |99
(2) AT B frm o STEEEATT
(3)@%@%@%@@?%@ Eﬁaﬁﬁnﬁ‘ﬁa
4) TTGFﬁﬁ'IEB STHHAT &l
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